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. Part-(Il) : Quantitative Aptitude (35 Questions)
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and find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced
immediately.

(4) Each question carries negative marking also as 0.25 mark will be deducted for each wrong answer.

(5) You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll
number, Test name/ld and name of the examination on the Answer-Sheet carefully before you actually start
attempting the questions. You must also put your signature on the Answer-Sheet at the prescribed place. These
instructions must be fully complied with, failing which, your Answer-Sheet will not be evaluated and you will be
awarded ‘ZERO’ mark.

(6) Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the
relevant question number by pencil or Black/Blue ball pen only.

(7) A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/
different from the information given in the application form, the candidature of such candidate will be treated as
cancelled.

(8) The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

(9) Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be
deemed fit.

(10) Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do
not spend too much time on any question.

(11) Mobile phones and wireless communication device are completely banned in the examination halls/rooms.
Candidates are advised not to keep mobile phones/any other wireless communication devices with them even
switching it off, in their own interest. Failing to comply with this provision will be considered as using unfair means
in the examination and action will be taken against them including cancellation of their candidature.

(12) No rough work is to be done on the Answer-Sheet.

(13) No candidate can leave the examination hall before completion of the exam.
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English Language

Direction (01-05): In the following question, one part of the
sentence may have an error. Find out which part of
the sentence has an error and select the appropriate
option. If the sentence is free from error, select 'No
Error'.

1. (A) The future of the Antarctic hangs
(B) in the balance and these cities have
(C) a key role to played in securing the
(D) future of this fragile continent.
(E) No error

2. (A) Seagrasses are often called
(B) foundation plants or ecosystem engineers
(C) because they modify there environments
(D) to create unique habitats.
(E) No error

3. (A) North Korea, which also has
(B) dozens of nuclear weapons,
(C) signed that treaty in 1985
(D) but withdraws in 2003.
(E) No error

4. (A) The show was both a fun,
(B) twisty mystery and also a specific piece
(C) of art put together by an artist
(D) with a singularly point of view.
(E) No error

5. (A) With this decision, nine judges
(B) made it possible for the country
(C) to institutionalize peace after
(D) 50 years of internally conflict.
(E) No error

Direction (6-7): In the question given below, a sentence is
given with one blank, followed by five options, each
having a word which may or may not fit in the blank.
From the given options, choose the one that gives the
correct word that fits in the blank.

6. During the of the British empire, thousands
of women from India and other parts of Asia were
brought to London to look after young children.

(A) transit (B) periodic
(C) churl (D) heydey
(E) lexicon
7. Business practices connected to the idea of a circular
economy have gained _____in recent years.
(A) accumulation (B) traction
(C) affectation (D) insinuation

(E) assimilation

Direction (08-11): In the question below, a sentence is given
with four words highlighted in bold. One of these four
words may either be wrongly spelt or inappropriate in
the context of the sentence. Find out the word, which
is wrongly spelt or inappropriate, if any. If all the
words are correctly spelled and appropriate in the
context of the sentence, mark (E) as your answer.

8. Colombia, a middle-income South American nation,
may simply lack the institutional capacity necessary
to fulfill its own landmark agriment.

(A) lack (B) capacity
(C) fulil (D) agriment
(E) All are correct
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9.

10.

11.

Computers increasingly become principal actors in
leveraging data to formulate questions, which
requires radical new ways of reasoning.

(A) increasingly (B) leveraging

(C) formulate (D) radical

(E) All are correct

Looking like cartoon caricatures of Arctic birds,
puffins flew alongside the boat, a prelude to the great
seabird colonies on the clif.

(A) caricatures (B) prelude

(C) colonies (D) clif

(E) All are correct

Lawsuits over cryptocurrency losses
are mounted across the country, asinvesting in
digital tokens and coins has become mainstream and
the money at stake has increased significantly.

(A) mounted (B) investing

(C) mainstream (D) stake

(E) All are correct

Direction (12-14): In the following question, a sentence is

12.

13.

14.

15.

given with a phrase or idiom highlighted in bold.
Select the option given below that can replace the
highlighted phrase and mark that as your answer.

The car broke up on my way to the office but luckily
the garage was nearby.

(A) broke through (B) broke off

(C) broke down (D) broke into

(E) No improvement

When | need some motivation, | always fall back
on Toni Morrison’s books.

(A) fall through (B) fall short off
(C) fall down from (D) No improvement
(E) fall off

We should all work with our collective goal of a
cleaner and greener earth.

(A) work towards (B) work through

(C) work out (D) work away

(E) No improvement

In the question below, four words are given, two of
which may or may not share a synonymous or
antonymous relationship. From the given options,
choose the one that provides the correct pair of
synonyms or antonyms.

1. renovate 2. Venerate
3. Adulate 4., Adulterate
(A)land 2 (B)1and 4
(C)2and 3 (D) 2 and 4

(E) All are synonyms

Direction (16-20): In the question given below, a set of

sentences is given, which when properly sequenced,
form a coherent paragraph. Arrange the sentences in
the correct sequence, and answer the questions that
follow.

P. Fish is widely known as a healthy food, rich in
protein and other nutrients, so how can this be?

Q. A combination of overfishing, pollution and
environmental damage has led to significant losses in
both quantities of fish (biomass) and the number of
fish species (biodiversity) available.

R. People in Bangladesh are now eating 30% more
fish than they did 20 years ago, but they are getting a
smaller amount of important nutrients from it, a new
study shows.
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16.
17.
18.
19.

20.

S. In Bangladesh as in many regions in the world,
naturally harvested fish, which is known as capture
fisheries, are faltering.

T. Well, it comes down to the types of fish available
for people to eat.

Which of the following would be the FIRST statement
after rearrangement?

AP (B)Q
©)R (D)S
eT

Which of the following would be the SECOND
statement after rearrangement?

(AP (B)R
©Q O)s
eT

Which of the following would be the THIRD statement
after rearrangement?

(A)Q (B)P
©OR o7
BE)S

Which of the following would be the FOURTH
statement after rearrangement?

(A)Q (B)R
©rP Os
eT

Which of the following would be the FIFTH (LAST)
statement after rearrangement?

AP (B)Q
©)R (D)S
®eT

Direction (21-25): In the following passage, some of the words

21.

22.

23.
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have been left out and replaced by a blank
represented by a letter. First read the passage and try
to understand what it is about. Then fill in the blanks
as per the questions given.

Diet soda drinkers, beware. Recent epidemiological
studies have confirmed that the sweeteners used in
diet sodas and other lite drinks increase the risk of
type 2 diabetes. Often asymptomatic, type 2 diabetes
is the most common form of diabetes, and is most
often found among people who are overweight and
__(21)___ . Even though the quantity of artificial
sweeteners in our diet has increased __ (22)__ in
recent years as industrial manufacturers add them
with growing __ (23)___ to not just drinks but also
cereals, biscuits, cakes, low-calorie yogurts and even
certain medicines, reliable and ___ (24)__ data on
their health impacts are rare. Such products are
marketed as low-calorie alternatives that are therefore
healthy. This perception ___ (25)___ consumers to
overuse sweeteners to avoid putting on weight. But,
even in moderation, these additives can have
negative effects on health. Today, sweeteners are
increasingly  controversial, and suspected of
contributing to weight gain and being carcinogenic.

(A) conventional
(C) solemn
(E) infamous

(B) sedentary
(D) commensurate

(A) conveniently
(C) conclusively
(E) luxuriously

(B) sensibly
(D) massively

(A) annihilation
(C) misnomer

(B) loyalty
(D) abandon
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24.

25.

(E) confluence

(A) precise
(C) endearing
(E) overwhelming

(B) gullible
(D) extravagant

(A) surveils
(C) predominates
(E) postulates

(B) encourages
(D) inculcates

Direction (26-30): Read the following passage carefully and

answer the questions that follow.

The mighty Himalayas act as the water tower of the
South and Southeast Asian region. More than ten
major rivers originate from the Tibetan Autonomous
Region of China. And for the past decade, India and
China, the two biggest geopolitical forces in the
region, have engaged in a hydro-power race to
harness this power. The waters that flow from the
Himalayas know no borders. These rivers include the
Brahmaputra, the Yangtze, the Mekong, the Sutlej,
the Indus, the Salween, and the Huang Ho, which is
also known as the Yellow River.

The Brahmaputra has a total length of 2,880
kilometres with a total drainage area of 5,73,394
square kilometres. It is shared by China, India,
Bhutan and Bangladesh. The river is known as the
Yarlung Tsangpo in China, the Siang and the
Brahmaputra in India and the Jamuna in Bangladesh.
The Brahmaputra is the lifeline for communities living
along its banks. The path of the Brahmaputra has
sculpted the natural and human landscape of two
north-eastern Indian states, Arunachal Pradesh and
Assam. The river nourishes the young and fragile
ecology of the Eastern Himalayas and the rich
diversity of people and languages in this frontier
space.

In recent years, the central governments of India and
China have decided to tame the Brahmaputra, by
building hydropower dams. Among them are the
Lower Subansiri Project and the Dibang Valley
project. As many as 168 memoranda of
understanding have been signed between the
Arunachal Pradesh state government and private and
public dam-building companies to build medium and
large dams in the state.

The legendary 20th century Assamese singer and
composer, Bhupen Hazarika, mentions the
Brahmaputra river in one of his popular compositions
Bistirno Parore. He was influenced by the American
standard, OI' Man River (Show Boat, 1936), sung by
African-American artist Paul Leroy Robeson, who was
involved in the American civil rights movement. In his
song, Hazarika asks the mighty Brahmaputra the
reason for its quiet and unbounded flow, amid the
suffering and pain of the people living by its banks.
Today, the song can be reinterpreted to reflect the
great uncertainty and fear among the communities
living in the Brahmaputra river basin, exhorting the
river to answer back and not keep quietly flowing
amid all the dam building.

In upstream Arunachal Pradesh, and downstream
communities of Assam and Bangladesh, concern is
widespread about plans to construct mega-dams by
both China and |India and water diversion
infrastructure projects by China along the river
system. The size and scale of proposed infrastructure
developments on this river, and the wider region, is
unprecedented in the development history of
northeast India. Indigenous communities of the region
are worried they will face tremendous social and
economic upheaval if the projects go ahead.
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30.

26.

27.

28.

20.
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This may not go down well with Beijing. India’s policy
of pursuing hydropower development in Arunachal
Pradesh could have a negative impact on bilateral
relations. New Delhi is essentially using this critical
biodiversity hotspot to legitimise its sovereignty claims
over Arunachal Pradesh by building mega
hydroelectricity projects.

The Indian government’s hydropower obsession has
led to great fear among local communities in
Arunachal Pradesh and Assam, for the first time
significantly overriding existing concerns about
upstream dam building projects by China. Recently,
local people have taken to the streets in large-scale
protests to voice their dissatisfaction.

The way forward must be to highlight the Himalayan
environment as an area of cooperation between all
the South and Southeast Asian countries that share
the transborder water resources in the region. The
only way to understand the Brahmaputra better is
through a mix of modern research methods and
traditional community-based knowledge systems. This
approach should be central to any dialogue between
and within the countries served by the river. An
emphasis on multilateral cooperation will dispel the
prevailing sense of conflict on this crucial river. The
Brahmaputra, meanwhile, meanders along
ceaselessly, shifting between its moods of ferocious
rampage and eternal quiet flow.

Which of the following statements about Bhupen
Hazarika’s song on the Brahmaputra is TRUE?

(A) His song was influenced by an American
counterpart.

(B) His song received international acclaim.

(C) The song was the first one on the river
Brahmaputra.

(D) The song has been interpreted to reflect the
contribution of the river to the communities.

(E) All are true

Why is there widespread concern about Indo-Chinese
plans to construct mega-dams on the Brahmaputra?
(A) It will cause a lot of floods.

(B) It will disrupt the lives of indigenous communities.
(C) It will be too costly for India to afford.

(D) It will ruin relations with neighbouring countries
like Pakistan.

(E) It will be detrimental for the environment.

Which of the following statements about the
Brahmaputra river is FALSE?

(A) Itis known as Jamuna in Bangladesh.

(B) Its waters are shared by China, India, Bhutan and
Bangladesh.

(C) It has played a role in shaping the natural and
human landscape of Arunachal Pradesh and Assam.
(D) The Brahmaputra is the longest river in the world.
(E) The Brahmaputra originates from the Himalayas.

What has been the response of local communities of
Arunachal Pradesh and Assam to the government’s
hydropower obsession?

(A) A number of them who hold public sector jobs
have gone on strike.

(B) Many of them have taken to the streets to protest.
(C) They have written petitions to the government.

(D) They support the government’s efforts in this
sector.

(E) They are content as the government has given
them adequate compensation for the impact of the
dam construction.
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31.

32.

33.

34.

35.

36.

37.

38.

Which of the following words is closest in meaning to
the word ‘dispel’ as used in the passage?

(A) banish (B) allure
(C) hinder (D) incite
(E) mediate

Quantitative Aptitude

Petra started a business by investing %3,300. Few
months later, Peter joined him by investing 4,400
such that out of the total annual profit of ¥8,000 Petra
received %4,500. After how many months did Peter
joined the business?
(A) 3 months
(C) 6 months
(E) 4 months

(B) 7 months
(D) 5 months

On an average, Rohan spends ¥900 per month for
first four months of a given year and 1500 per month
for the next eight months of the same year. If his
annual savings of that year is ¥6000 then find his
average monthly income.

(A) 31400 (B) %1600
gc; :2200 (D) %1800
E) 22000

Ratio of present ages of ‘A’ and ‘B’ is 4:5,
respectively. If 14 years hence from now, the sum of
their ages will be 100 years, then find the present age
of ‘A’.

(A) 40 years
(C) 36 years
(E) 28 years

(B) 44 years
(D) 32 years

In March, Sourav spent 72% of his income and saved
the rest which is equal to Rs. 14000. In April, if he
increased his savings by 20%, then how much
percentage of his income did he spend in April?
(Incomes in March and April are equal)

(A) 68.5% (B) 72.5%
EC; 66.4% (D) 58.6%
E) 74.2%

The sum of cost prices of 2 belts and 1 purse is
%1960 and sum of cost prices of 5 belts and 2 purses
is %4520. What will be the profit (in ¥) earned on
selling 1 belt at a profit of 15%?

(A) 115 (B) 90
(C) 100 (D) 80
(E) 125

A seller marked an item 80% above its cost price. If
he sold that article after giving a discount of 22%%
then find the profit/loss percentage incurred to him?
(A) 43§% (B) 663%

(C) 60% (D) 40%

(E) 835 %

A man invested 1,200 at simple interest of 20% p.a.
and %800 at simple interest of 25% p.a., then find the
total amount received by him after 4 years.

(A) 22,760 (B) 23,760
gc)) ;1,760 (D) 32,250
E) 3,250

A 480 litres mixture (milk + water) contains milk and
water in the ratio of 5:7, respectively. If ‘y’ litres of milk
is added to the given mixture, then the ratio of
quantity of milk to that of water in the resultant mixture
becomes 6:7. Find the value of ‘y’?

(A) 60 (B) 50

(C) 40 (D) 30
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39.

40.

41.

(E) 35

‘P’ alone can complete a work in 21 days while ‘P’
and ‘Q’ together can complete the same work in 10
days. Find the part of total work completed by ‘Q’ in

15 days.

(A) (9/11) (B) (11/14)
(C) (9/14) (D) (7/9)
(E) (4/5)

Total time taken by a boat to travel from point ‘A’ to
point ‘B’ and then from point ‘B’ to point ‘A’, is 22.5
hours while the speed of boat in still water is 12 km/h
which is 200% more than speed of stream. Find the
distance between point ‘A’ and ‘B’.

(A) 112 km (B) 160 km
(C) 90 km (D) 120 km
(E) 180 km

Perimeter of a square shaped plot is 120 metres and
the area of a rectangular plot is 60% more than that of
the square shaped plot. Find the area (in m?) of a
rectangular plot?

(A) 1400 (B) 1440
Ehe o710

Direction (42-43): What approximate value will come in place

42.

43.

of the question mark (?) in the following question?
(Note: You are not expected to calculate the exact
value.)

19.98% of 999.998 + V224.98 = ?

(A) 170 (B) 185
(C) 245 (D) 215
(E) 200

(14.01)? + (5.98)2= ? — 19.98

(A) 52 (B) 152
(C) 352 (D) 252
(E) 292

Direction (44-50): What will come in the place of question

44,

45.

46.

47.

48.

49.
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mark (?) in the given expression?

(1/2) + (312) + (4/12) x (9/6) = (?/2)

(A) 5 (B)6
©)2 (D) 3

(E) 4

240+15+112+8=7?

(A) 35 (B) 30
(C) 42 (D) 50

(E) 40

(380 =20 — 7) x 2 = 420

(A) 30 (B) 45
(C) 35 (D) 29

(E) 31

(1/5) + (2/15) + (5/7) = 22 x ?

(A) (1/21) (B) (1/19)
(C) (1/23) (D) (1/17)
(E) (1/18)

955 — 25% of 176 + 33266 = ?

(A) 34157 (B) 34189
(C) 34158 (D) 34177

(E) None of these

12% of 20% of 500 + 120 = ? x 4
(A) 25 (B) 45
(C) 60 (D) 33
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50.

(E) 48
(18 x 19) +262=? x 2

(A) 309 (B) 409
(C) 509 (D) 519
(E) 319

Direction (51-53): The following numbers form a series. Find

51.

52.

53.

the odd one out.

1086, 1093, 1114, 1149, 1197, 1261

(A) 1086 (B) 1093
(C) 1114 (D) 1197
(E) 1149

120, 116, 104, 84, 52, 20

(A) 116 (B) 52
(C) 20 (D) 84
(E) 104

96, 144, 216, 320, 486, 729

(A) 144 (B) 486
(C) 216 (D) 320
(E) 729

Direction (54-55): In the questions, two equations | and Il are

54.

55.

given. You have to solve both the equations to
establish thecorrect relation between x and y and
choose the correct option.

l. x2=12x =-32 Il. y? + 45 = 18y

(A) x>y (B)x<y

(C) x =y or the relationship cannot be established
(D)x=y (E)x<y

I 4x2 + 24x + 35 =0 I.8y2 + 26y +15=0
(A) x>y (B)x<y

(C) x =y or the relationship cannot be established
(D) x=<y (BE)x=zy

Direction (56-60): Answer the questions based on the

56.

57.

58.

59.

information given below.

A survey was conducted among certain number of
people about the type of hair product (Hair cream or
Hair gel) they like. 27 persons like neither hair cream
nor hair gel. 110 persons like hair gel, out of which 45
persons also like hair cream. The number of people
who like only hair cream was 23 more than the
number of people who like only hair gel.

What is the total number of people who were

surveyed?

(A) 180 (B) 200
(C) 240 (D) 225
(E) 198

The ratio of the number of males to the number of
females to the number of persons who like only hair
cream is 3 : 5. What is the number of women who like
only hair cream?

(A) 60 (B) 55

(C) 70 (D) 50

(E) 33

How many people like exactly one hair product?
(A) 184 (B) 155

(C) 160 (D) 153

(E) 175

The number of people who like neither hair cream nor
hair gel is how much percent of the number of people
who like both hair cream and hair gel?
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65.

60.

(A) 60% (B) 40%
Ec; 55% (D) 70%
E) 65%

What is the difference between the number of people
who like hair gel and the number of people who like
only hair cream?

(A) 30 (B) 22
(C) 27 (D) 18
(E) 25

Direction (61-65): Answer the questions based on the

61.

62.

63.

64.
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information given below.

Given line graph shows the total number of flowers
(lotus + rose + lily) sold by five different shops.

10000
9000

7000
6000
- 9000

A B Cc D E

——Total number of flowers sold

The bar graph given below shows the number of
lotuses and roses sold by the given five shops.

6000
[2000]
2800 S
-_2390 el 2100
A B c B E

® Number of lotuses sold 1 Number of roses sold

If ratio between number of lotuses and roses sold by
shop ‘F’ is 2:3, respectively and average number of
lotuses and roses sold by it is 1250, then find the
difference between number of roses by shop ‘F’ and

shop ‘A’?

(A) 200 (B) 250
(C) 300 (D) 350
(E) 400

Find the difference between number of lilies sold by
shops ‘A’ and ‘B’.

(A) 100 (B) 200

(C) 180 (D) 250

(E) None of these

Ratio of number of Ilotuses, roses and lilies,
respectively sold by shop ‘C’ is:

(A) 15:12:23 (B) 8:5:5
(C) 25:23:22 (D) 28:21:11
(E) 6:3:1

Total number of flowers sold by shop ‘D’ is how much
percent of total number of lotuses sold by shops ‘A’,
‘B’, and ‘C’ together?

(A) 25% (B) 40%
EC; 60% (D) 75%
E) 50%
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If number of lilies sold by shop ‘Q’ is 61.6% more than
that by shop ‘C’ then find the number of lilies sold by

shop ‘Q’.

(A) 4020 (B) 4400

gc; 4040 (D) 4004
E) 4440

Reasoning Aptitude

Direction (66-70): Answer the questions based on the

66.

67.

68.

69.

70.

information given below.

Nine boxes (N1, N2, N3, N4, N5, N6, N7, N8, and N9)
are placed above one another such that the
bottommost box is nhumbered as 1 and the topmost
box is numbered as 9 but not necessarily in the same
order.

Both N6 and N2 are even numbered box. Both N8
and N7 are prime numbered box. Two boxes are
placed between N1 and N3. N3 is an odd numbered
box placed above the 61 box. N9 is placed two boxes
above N5. N6 is placed above N9. N7 is placed
immediately above N8.

Four of the following five are alike in a certain way
based on a group, which among the following does
not belong to that group?

(A) Box N9 (B) Box N5

(C) Box N7 (D) Box N6

(E) Box N8

_____boxes are placed below Box N4.

(A) Three (B) Five

(C) One (D) None

(E) None of the above

Box N5 is placed ___ boxes above Box N7.
(A) One (B) Two

(C) Three (D) Four

(E) Cannot be determined

Which of the following statements is/are definitely
correct?

(A) Box N6 is 8™ box

(B) One box is placed between N3 and N6

(C) Box N2 is 6™ box

(D) Both (A) and (B)

(E) Both (B) and (C)

__ is placed immediately below Box N1.
(A) Box N7 (B) Box N2

(C) Box N5 (D) Box N6

(E) Cannot be determined

Direction (71-75): Answer the questions based on the

71.

72.

information given below:

Eight persons A, B, C, D, E, F, G and H sit in a
horizontal row facing towards the north direction.

Two persons sit between G and F, who is third from
one of the extreme ends. G sits second to the right of
A. D doesn’t sit adjacent to A and F. E sits second to
the left of D. Neither C nor H sits adjacent to F. At
most two persons sit between D and C.

How many persons sit between F and E?
(A) Two (B) Three

(C) Four (D) One

(E) Cannot be determined

Who sits second from the right end of the row?
(A E (B)D
©F (d)B
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73.
74.

75.

(E) None of the above

Who sits immediately left of the C?
(A)D (B)A
©)B (D)H
(E) None of the above

Find the odd one out.

(A)B-A (BYF-E
(C)A-G (D)F-H
(E)G-C

What is the position of A with respect to F?

(A) immediate left (B) second to the left
(C) third to the left (D) immediate right
(E) None of the above

Direction (76-80): Answer the following question on the basis

76.

77.

78.

79.

80.

ofthe information given below.

Seven people Ram, Rohit, Radhika, Anupam, Suraj,
Shaurya and Shreya, were born on 1stof different
months from June to December of the year 2000.
They like different fruits among Apple, Grapes,
Guava, Banana, Mango, Litchi and Kiwi.

Ram likes Apple and was born in either September or
November. Suraj was born in July and likes Mango.
Two people were born between Suraj and the one,
who likes Grapes. Rohit was born after the one, who
likes Grapes. Shreya was born two months before
Rohit. Shaurya likes Litchi and was not born in a
month having only 30 days. Radhika does not like
Guava. The person, who likes Banana, was born
immediately before the one, who likes Kiwi. Person,
who likes Guava, was born before Suraj.

Anupam was born in and likes

(A) November, Grapes (B) August, Kiwi
(C) December, Banana (D) June, Guava
(E) None of the above

How many people were born before the one, who
likes Grapes?

(A) Two (B) Three
E(E:)) ’I;our (D) Five
one

__ likes kiwi and was born in .

(A) Anupam, July (B) Radhika, November
(C) Rohit, December (D) Shreya, August

(E) None of the above

How many people were born between Anupam and
Radhika?

(A) Five (B) Four
(C) Three (D) Two
(E) None

Which of the following statement is incorrect?

(A) Anupam was born in June and likes Guava.

(B) Shaurya was born in October.

(C) Three people were born between Shaurya and
Rohit.

(D) Rohit is the youngest.

(E) All the statements are incorrect.

Direction (81-85): Answer the questions based on the

App :- http://bit.ly/TesMusPrime

information given below.

Six persons A, B, C, D, E, and F are sitting around
the corner of a hexagonal-shaped table such that
some are facing towards the centre and some are
facing away from the centre.
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81.

82.

83.

84.

85.

C sits second to the left of A. B sits immediate right of
E, who faces opposite direction to that of F. Two
persons sit between C and E. A doesn’t sit adjacent
to D. B and C face same direction but opposite to that
of E. C doesn't sit immediate left of D. F doesn'’t face
towards the centre.

Who sits opposite to D?

(A)C (B)B
©A (D) E
(E) None of the above

How many persons are sitting between A and B,
when counted from the left of B?

(A) two (B) three
(C) one (D) four
(E) no one

Who sits second to the right of E?
(A)F (B) D
c)B (D) A
(E) None of the above

What is the position of C with respect to D?
(A) immediate left (B) fourth to the left
(C) third to the right (D) fifth to the left
(E) None of the above

If all the persons are arranged in alphabetical order
starting from position of A in the clockwise direction,
then how many persons remain in the same place

(except A)?
(A) two (B) one
(C) three (D) five

(E) None of the above

Direction (86-87): Answer the questions based on the

86.

87.

information given below:

In a certain language,

I. ‘help order live beyond’ is coded as ‘rde, ynd, vlip,
phk’.

Il. ‘order beyond hold control’ is coded as ‘dhl, rde,
ort, ynd’

Ill. ‘beyond control level phone’ is coded as ‘npe, ort,
evl, ynd’

IV. ‘live hold level dream’ is coded as ‘amd, vip, dhl,
evl’

is coded as “dhl” in the given language.
(A) control (B) beyond
(C) hold (D) level
(E) None of the above

Which of the following is the code for “phone” in the
given language?

(A) amd (B) evl

(C) npe (D) vip

(E) Cannot be determined

Direction (88-91): Study the following arrangement of

88.

numbers and alphabet carefully and answer the
following question.

AB415D6G87E99Q7123Y52U7IN25

How many alphabets are immediately followed by an
odd number?

(A) Two

(C) Four

(E) None of the above

(B) Three
(D) Five
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92.

93.

94.
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How many numbers are immediately followed by a 95.
vowel?

(A) Three (B) Four

(C) Five (D) More than five

(E) None of the above

What is the sum of all the numbers, which are
immediately preceded by a consonant?

(A) 26 (B) 30

(C) 32 (D) 28

(E) None of the above

What is the seventh element to the right of 8™ number 96.
from the right end?

(AU (B)Y

(€)2 D)7

(E) None of the above

In the question below there are four statements
followed by four conclusions |, II, lll and IV. You have
to take the three given statements to be true even if 97.
they seem to be at variance from commonly known
facts and then decide which of the given conclusions
logically follows from the three statements
disregarding commonly known facts.
Statement: All Sparrow are Bird.
All Hen are Bird.
No Sparrow is Hawk.
All Hen are Pet.
Conclusion: I. Some Bird are Pet.
II. No Hawk is Pet.
Ill. Some Bird can be Hawk.
IV. All Bird can be Hawk.
(A) Only conclusion Il and IlI follow.
(B) Only conclusion | and Il follow.
(C) Only conclusion | and lll follow.
(D) Only conclusion Il and IV follow.
(E) None of the above.
98.
In the question below there are three statements
followed by two conclusions | and Il. You have to take
the three given statements to be true even if they
seem to be at variance from commonly known facts
and then decide which of the given conclusions
logically follows from the three statements 99.
disregarding commonly known facts.
Statements: No Junk is Healthy.
Some Healthy is Better.
Only a few Better is Good.

Conclusions: I. Some Healthy can be Good. 100.

Il. Some Better is not Junk.

(A) Only conclusion | follows

(B) Both conclusion | and conclusion Il follow
(C) Only conclusion Il follows

(D) Neither conclusion I nor conclusion Il follows
(E) Either conclusion | or conclusion Il follows.

How many meaningful four-letter words can be
formed using the 2nd, 6, 7, 121, and 13" letter from
the left end of the word ‘FACTORISATION’?

(A) More than three (B) Three
(C) Two (D) One
(E) None

If it is possible to make a meaningful English word
starting from the letter ‘P’ from the 1S, 2nd, 5t and
7t letters of the word ‘POWERFULLY’, from the left
end, then what will be the 2" |etter of the word so
formed from the left end? If no such word can be
formed, then the mark the answer as ‘X’, and if more
than one word can be formed then mark theanswer
as’Y’.

(A)O ®)Y
(C) X (D) U
(E)R

What is the suitable sign that should be placed so that
A > D is true and F > C is true in the following
relation?

A>B2C?D=E<F

(A) > (B)=

(€)= (D) 2

(E) None of the above

Which of the following symbols should be placed in
the blank spaces respectively (in the same order from
left to right) in order to complete the given expression
in such a manner that ‘T =2V’ definitely holds true?
T U W_V

(A)> =2 )
©)2 =< (D)
(E) None of the above

Direction (98-99): Answer the questions based on the

information given below:

Eight cars C1, C2, C3, C4, C5, C6, C7 and C8 are
standing in a parking lot such that C2 is 10m west of
C7, which is 20m south of C4. C3 is 5m west of C4.
C8 is 25m north of C3. C6 is 30m east of C8. C5 is
35m south of C6. C1 is 15m west of C5.

What is the direction of Car C8 with respect to Car
C1?

(A) North

(C) North-west
(E) South-west

(B) North-east
(D) South-east

Find the odd one out.

(A) C1-C6 (B) C2-C5
(cyc7-c1 (D) C3-C2
(E) C4 - C6

In the question, assuming the given statements to be
true, find which of the conclusion (s) among given
three conclusions is/are definitely true and then give
your answer accordingly.

Statements: Q=C>R=2P=2D;M2Z>P=S8
Conclusions: I.S>D I.Mz=C

Nn.0D<Zz

(A) Only Conclusion | is true

(B) Only Conclusions | and Il are true

(C) Only Conclusion Il is true

(D) Only Conclusion Il is true

(E) Only Conclusions | and Il are true

Space for rough work
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English Language

Answer: (C)

In C, replace the second form verb PLAYED with
PLAY as the TO + VERB infinitive construction will
take the base form of the verb. Thus, C is the right
answer.

Answer: (C)

In C, replace the adverb THERE with the possessive
pronoun THEIR to modify the noun
ENVIRONMENTS. So, C is the correct answer.
Answer: (D)

In D, replace the present tense form verb
WITHDRAWS with the second form WITHDREW as
the sentence talks of a past event that took place in
2003. Thus, D is the right answer.

Answer: (D)

In D, replace the adverb SINGULARLY with the
adjective SINGULAR as it is being used to modify the
noun POINT. Thus, (d) is the right answer.

Answer: (D)

In D, replace the adverb INTERNALLY with the
adjective INTERNAL as it is being used to modify the
noun CONFLICT. Thus, D is the right answer.
Answer: (D)

We need a noun to be modified by the definite article
THE. HEYDEY (prime) will fit here as the sentence
tells us how, during the peak of the British empire,
thousands of Indian women were brought to London
to take care of children. Thus, (d) is the right answer.
Transit - transport. Periodic (adjective) - occurring at
regular intervals. Churl - a rude person. Lexicon -
vocabulary.

Answer: (B)

We need a noun to form the object of the verb
GAINED. TRACTION (act of drawing attention) will fit
here contextually as the sentence talks about
business practices related to circular economy
drawing attention in recent years.Thus, (b) is the right
answer.

Accumulation/ assimilation - act of gathering or

collecting.  Affectation - unnatural behaviour.
Insinuation - an unpleasant suggestion.
Answer: (D)

It should be agreement in place of agriment. Thus, D
is the right answer.

Answer: (D)

The sentence seeks to convey that computers
become principal (main) actors in leveraging (taking
something to gain advantage) data to formulate
(prepare) questions which require completely new
ways of reasoning. RADICAL (adjective) will be
inappropriate here and should be replaced with the
adverb RADICALLY (extremely) as we need an
adverb to modify the adjective NEW. Thus, (d) is the
right answer.

Answer: (D)

It should be cliff in place of clif. Thus, D is the right
answer.

Answer: (A)

Replace second form verb MOUNTED with present
continuous form verb MOUNTING as we need a verb
in present continuous form to fit in ARE + VERB
present continuous tense construction. The sentence
seeks to convey that lawsuits over losses incurred in
cryptocurrency are mounting (increasing) as investing
(putting money into) has become mainstream
(popular) and the money at stake (at risk) has greatly
increased.

Answer: (C)

(c) is the right answer. We need a phrase that means
to stop working. BROKE DOWN will be apt here as
the sentence talks about the car stopping to work.
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13.

14.

15.

BROKE THROUGH- to pass through a barrier
BROKE UP- to break into pieces

BROKE DOWN- (of a machine) to stop working
BROKE OFF- to detach from a whole

Answer: (D)

(d) is the right answer. We need a phrase that means
to rely on. FALL BACK ON will be apt here as the
sentence talks about the speaker relying on Toni
Morrison’s books for motivation.

FALLS OFF- to decrease; to separate from a whole
FALLS THROUGH- to fail or be cancelled

FALLS DOWN FROM:- to fall from a particular place
FALLS SHORT OFF- something is less in comparison
to something else.

Answer: (A)

(a) is the right answer. We need a phrase that means
to work to achieve a particular objective. WORK
TOWARDS will be apt here as the sentences talks
about working to achieve a common goal of cleaner
and greener earth.

WORK TOWARDS- to work to achieve a particular
objective

WORK THROUGH- to deal with a situation

WORK OUT- to exercise

WORK AWAY is contextually inapt.

Answer: (C)

ADULATE means to respect or admire deeply.
VENERATE is its synonym. Thus, C is the right
answer.

Renovate - revamp; change the look of something.
Adulterate - render something poorer in quality by
adding something else.

Direction (16-20):

16.
17.
18.
19.
20.
21.

22.

The correct order of statements in the rearranged
paragraph is RPTSQ. R begins the passage by
introducing the main idea that the passage revolves
around - people in Bangladesh are consuming more
fish that they used to do, but they are not getting
sufficient nutrition from it. P proceeds by posing the
question why this can be the case even when fish is a
nutritious and healthy food. T answers this question -
the amount nutrition obtained from consuming fish
depends on the type of fish consumed. SQ concludes
the para as a pair: S tells us how naturally harvested
fish, which is very nutritious, is declining in
Bangladesh. Q follows by telling us how overfishing,
pollution and environmental damage has caused
losses in the quality of fish.

Answer: (C)

Answer: (A)

Answer: (D)

Answer: (D)

Answer: (B)

Answer: (B)

We need an adjective to modify the noun PEOPLE.
SEDENTARY (having a lifestyle with little to no
physical activity) will fit here as the sentence tells us
how type 2 diabetes is found among people who are
overweight and doing little physical activity. Thus, B is
the right answer.

Conventional - traditional. Solemn - serious; grave.
Commensurate.corresponding in size or degree; in
proportion. Infamous - notorious.

Answer: (D)

We need an adverb to modify the verb INCREASED.
MASSIVELY (significantly) will fit here as the
sentence tells us how the quantity of artificial
sweeteners in our diet has increased in a significant
proportion. Thus, D is the right answer.

Conveniently - having a benefit or advantage.

Sensibly - wisely; prudently. Conclusively -
unquestionably.  Luxuriously - comfortably or
elegantly.

Web :- https://tesmus.com



http://bit.ly/TesMusPrime
https://tesmus.com/

IBPS CLERK PRE 2023 TEST ID - ICP - 895553191

23.

24,

25.

26.

27.

28.
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Answer: (D)

We need a noun to be modified by the adjective
GROWING. ABANDON (lack of restraint) will fit here
as the sentence tells us how industrial manufacturers
add artificial sweeteners to food items without
practising any restraint on their part. Thus, E is the
right answer.

Annihilation - complete destruction. Loyalty -
faithfulness. Misnomer - a wrong or inaccurate name
or designation. Confluence - convergence.

Answer: (A)

We need an adjective to modify the noun DATA.
PRECISE (accurate) will fit here as the sentence tells
us how reliable and accurate data on the health
impacts of artificial sweeteners is rare. Thus, A is the
right answer.

Gullible - easily persuaded to believe something
wrong. Endearing - lovable. Extravagant -
superfluous; wasteful. Overwhelming - very great or
intense.

Answer: (B)

We need a singular verb to agree with the singular
subject PERCEPTION. ENCOURAGES (persuades)
will fit here as the sentence tells us how the
perception convinces consumers to overuse
sweeteners to avoid gaining weight.. Thus, B is the
right answer.

Surveils - closely monitors or observes. Predominates
- be the strongest or main element. Postulates -
suggests.

Answer: (A)

Refer to the lines: “The legendary 20th century
Assamese singer and composer, Bhupen Hazarika,
mentions the Brahmaputra river in one of his popular
compositions Bistirno Parore. He was influenced by
the American standard, OI' Man River (Show Boat,
1936), sung by African-American artist Paul Leroy
Robeson, who was involved in the American civil
rights movement.” These lines confirm A as true.

B and C are not mentioned in the passage.

Refer to the lines: “In his song, Hazarika asks the
mighty Brahmaputra the reason for its quiet and
unbounded flow, amid the suffering and pain of the
people living by its banks. Today, the song can be
reinterpreted to reflect the great uncertainty and fear
among the communities living in the Brahmaputra
river basin, exhorting the river to answer back and not
keep quietly flowing amid all the dam building.” These
lines confirm D as false.

Answer: (B)

Refer to the lines: “In upstream Arunachal Pradesh,
and downstream communities of Assam and
Bangladesh, concern is widespread about plans to
construct mega-dams by both China and India and
water diversion infrastructure projects by China along
the river system. The size and scale of proposed
infrastructure developments on this river, and the
wider region, is unprecedented in the development
history of northeast India. Indigenous communities of
the region are worried they will face tremendous
social and economic upheaval if the projects go
ahead.” Thus, B is the right answer.

The other options are not mentioned in the passage.
Answer: (D)

A is the right as it is mentioned in the passage, while
the other options are true.

Refer to the lines: “The Brahmaputra has a total
length of 2,880 kilometres with a total drainage area
of 5,73,394 square kilometres. It is shared by China,
India, Bhutan and Bangladesh. The river is known as
the Yarlung Tsangpo in China, the Siang and the
Brahmaputra in India and the Jamuna in Bangladesh.
The Brahmaputra is the lifeline for communities living
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20.

30.

31.

32.

33.

34.

35.

along its banks. The path of the Brahmaputra has
sculpted the natural and human landscape of two
north-eastern Indian states, Arunachal Pradesh and
Assam. The river nourishes the young and fragile
ecology of the Eastern Himalayas and the rich
diversity of people and languages in this frontier
space.” These lines confirm A, B and C as true.

Refer to the lines: “The waters that flow from the
Himalayas know no borders.These rivers include the
Brahmaputra, the Yangtze, the Mekong, the Sutlej,
the Indus, the Salween, and the Huang Ho, which is
also known as the Yellow River.” These lines confirm
E as true.

Answer: (B)

Refer to the lines: “The Indian government’s
hydropower obsession has led to great fear among
local communities in Arunachal Pradesh and Assam,
for the first time significantly overriding existing
concerns about upstream dam building projects by
China. Recently, local people have taken to the
streets in large-scale protests to voice their
dissatisfaction.” These lines confirm B as the right
answer.

The other options are not mentioned in the passage.
Answer: (A)

DISPEL means to banish or make a feeling
disappear. Thus, A is the right answer.

Allure - tempt; charm. Hinder - prevent. Incite -
provoke. Mediate - arbitrate.

Quantitative Aptitude

Answer: (D)

Profit share of Peter = 8000 — 4500 = ¥3,500

So, ratio of profit shares of Petra and Peter,
respectively = 4500:3500 = 9:7

Let the number of months for which Peter invested his
sum = ‘K’ months

Then, (3300 x 12)/(4400 x k) = 9/7

Or, 39600 x 7 = 4400k x 9

Or, 63 =9k

Or, k=(63/9) =7

So, number of months after which Peter joined the
business =12 — 7 = 5 months.

Answer: (D)

Annual expenditure of Rohan = (900 x 4) + (1500 x 8)
= 3600 + 12000 = %15600

Annual income of Rohan = 15600 + 6000 = ¥21600
Required average = 21600/12 = 31800

Answer: (D)

Let the present ages of ‘A’ an'd ‘B’ be ‘4x’ years and
‘5x’ years, respectively.

ATQ;

4x + 14 + 5x + 14 = 100

Or,9% =72

Or,x=8

So the present age of ‘A'=4 x 8 = 32 years

Answer: (C)

Income of Sourav in March = {14000/(1 — 0.72)}
=%50000

Savings of Sourav in April = 14000 x (120/100)
=%16800

So, expenses of Sourav in April = 50000 — 16800
=¥33200

Therefore, percentage of his income spent by Sourav
in April = (33200/50000) x 100 = 66.4%

Answer: (B)

Let the cost price of a belt = ‘A’

Let he cost price of purse =X'B’

According to the question,

2A + 1B = 1960 ...... (1)5A + 2B = 4520...... (2) On
solving equation (1) and (2), we get

Cost price of 1 belt = ‘A’ = %600
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42.
43.
44.

45.

46.
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So, required profit earned = 600 x (15/100) = %90
Answer: (D)

Let the cost price of the item = ¥100x’

Marked price of the item = 1.8 x 100x = ¥180x
Discount given on the item = (2/9) x 180x = ¥40x
Selling price of the item = 180x — 40x = ¥140x
Required profit percentage = {(140x — 100x)/100x} x
100 = (40x/100x) x 100 = 0.4 x 100 = 40%

Answer: (B)

Total interest earned in 4 years = {(1200 x 4 x
20)/100} + {(800 x 4 x 25)/100} = 960 + 800 = Z1760
So, total amount received after four years

= 2000 + 1760 = 33760

Answer: (C)

Quantity of milk in the initial mixture

=480 x {5/(5 + 7)} = 480 x (5/12) = 200 litres
Quantity of water in the initial mixture

=480 x {7/(5 + 7)} = 480 x (7/12) = 280 litres
According to the question,

{(200 + x)/280} = 6/7

Or, 1400 + 7x = 1680

Or, 7x = 1680 — 1400

Or, 7x =280

Or,x=40

Answer: (B)

Let the total work = 210 units {L.C.M of 21 and 10}
Then, efficiency of ‘P’ alone = (210/21) = 10 units/day
Efficiency of ‘P’ and ‘Q’ together = (210/10)

= 21 units/day

So, efficiency of ‘Q’ alone = 21 — 10 = 11 units/days
So, work done by ‘Q’ alone in 15 days = 11 x 15

= 165 units

So, fraction of the work completed = (165/210)

= (11/14)

Answer: (D)

Let the distance between point ‘A’ and ‘B’ be ‘d’ km.
Speed of boat in still water = 12 km/h

Speed of stream = (12/3) = 4 km/h

ATQ;

{d/(12 — 4)} + {d/(12 + 4)} = 22.5

Or, (d/8) + (d/16) = 22.5

Or, 2d +d = 360

Or,d =120

Therefore, the distance between point ‘A’ and ‘B’ is
120 km.

Answer: (B)

Perimeter of square shaped plot = 120 metres

Let length of each side of the square shaped plot be
‘a’ metres.

So, 4a =120

Or,a=30

Area of square shaped plot = 30 x 30 = 900 m?

Area of rectangular plot = 1.60 x 900 = 1440 m?
Answer: (D)

19.98% of 999.998 + 224,98 = ?

20% of 1000 + V225 ~ ?

200+ 15~7?
?~215
Answer: (D)

(14.01)% + (5.98)?= ? — 19.98
(14)? + (6)°~?-20

196 +36 +20 ~ ?

?~252

Answer: (D)

(1/2) + (3/2) + (4/12) x (9/6) = (?/2)
(1/2) x (2/3) x (12/4) x (9/6) = (?/2)
(312) = (?12)

?=3

Answer: (B)

240 +15+112+8="?
?=16+14

?=30

Answer: (C)
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49.

50.

51.

52.

53.

55.

(380+20—-7)x?=420
(19-7)x?=420

12 x ? =420

? =(420/12)

?=35

Answer: (A)

(1/5) + (2/15) + (5/7) =22 x ?
{(21 + 14 + 75)/105} =22 x ?
(22/21)=22x?

?=1/21

Answer: (D)

955 — 25% of 176 + 33266 = ?
?=955-0.25 x 176 + 33266
? =955 - 44 + 33266

? =34177

Answer: (D)

12% of 20% of 500 + 120 =? x 4
12+120=7?x%x4

?=132+4

?=33

Answer: (C)

(18 x 19) +262=?x 2

342 +262=7?x2

342 +676=?x2

1018 +2=7?
? =509
Answer: (D)

1086 + 7 x 1 = 1093

1093 + 7 x 3=1114

1114 + 7 x 5 =1149

1149 +7 x 7 = 1198

1198 +7 x 9 =1261

Therefore, 1198 should come in place of 1197
Answer: (B)

120-4x1=116

116 —4 x 3 =104

104 -4x5=84

84—-4x7=56

56 -4 x9=20

Therefore, 56 should come in place of 52.
Answer: (D)

96 x (3/2) = 144

144 x (3/2) = 216

216 x (3/2) = 324

324 x (3/2) = 486

486 x (3/2) =729

Therefore, 324 should come in place of 320.

Answer: (C)
From [:
X2 —12x =-32

Or,x2—-12x—-32=0
Or,x2—8x—-4x—-32=0
Or, x(x—-8)—-4(x-8)=0
Or,(x—4)(x-8)=0
So,x=40rx=8

From Il:

y? + 45 =18y
Or,y?—18y+45=0
Or,y?—15y -3y +45=0
Or,y(y—15)—-3(y-15)=0
Or, (y-15)(y-3)=0
So,y=150ry=3

X Relationship y

4 > 3

4 < 15

8 > 3

8 < 15
So, the relationship cannot be established.
Answer: (D)
From I:

4x? +24x+35=0
4x? + 14x + 10x + 35=0
2X(2x +7) +5(2x+7)=0
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(2x+5)2x+7)=0

x =-5/2,-7/2

From II:
8y?+26y+15=0

8y?+ 20y + 6y +15=0
4y(2y +5) + 3(2y +5) =0
(4y+3)2y+5) =0

=-3/4, -5/2

X Relation y

-5/2 < -3/4

-5/2 = -5/2

712 < -3/4

712 < -5/2
So, X<y

Direction (56-60):

56.

57.

58.

59.

60.

Number of people who like only hair gel
=110-45=65

So, number of people who like only hair cream
=65+23=88

Number of people who like both hair gel and hair
cream = 45

Number of people who liked neither hair cream nor
hair gel = 27

So, total number of people surveyed = 65 + 88 + 45 +
27 =225

88

Hair Cream Hair Gel Number of people who
like neither hair cream
nor hair gel

Answer: (D)

Total number of people who were surveyed = 225
Answer: (B)

Number of females who like only hair cream

=88 x (5/8) =55

Answer: (D)

Required sum =88 + 65 = 153

Answer: (A)

Required percentage = (27/45) x 100 = 60%
Answer: (B)

Required difference = 110 — 88 = 22

Direction (61-65):

61.

62.

63.

64.

65.
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Number of lilies sold by shop ‘A’
= 5000 — 1500 — 1200 = 2300

Similarly,

Shops | Total Number | Number | Number
number | of of roses | of lilies
of lotuses | sold sold
flowers | sold
sold

A 5000 1500 1200 2300

B 7000 2500 2300 2200

C 9000 4000 2500 2500

D 6000 2800 2100 1100

E 10000 6000 3000 1000

Answer: (C)

Number of roses sold by shop ‘F’ = (3/5) x 2 x 1250
= (3/5) x 2500 = 1500

Required difference = 1500 — 1200 = 300

Answer: (A)

Required difference = 2300 — 2200 = 100
Answer: (B)

Desired ratio = 4000:2500:2500 = 8:5:5
Answer: (D)

Required percentage = {(6000)/(1500 + 2500 + 4000)}
x 100 = (6000/8000) x 100 = 0.75 x 100 = 75%
Answer: (C)

4| Page
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Number of lilies sold by shop ‘Q’
=1.616 x 2500 = 4040

Reasoning Aptitude

Direction (66-70):
The final arrangement is as follows:
Positions | Boxes
9 N3
N6
N9
N1
N5
N2
N7
N8
N4

RIN|W| |00 ||

66. Answer: (D)

All are prime numbered box except for Box N6.
67. Answer: (D)

No box is placed below Box N4.

68. Answer: (B)

Box N5 is placed two boxes above Box N7.
69. Answer: (A)

Box N6 is 8™ box is a correct statement.
70. Answer: (C)

Box N5 is placed immediately below Box N1.
Direction (71-75):

Final arrangement is:

(HIB|F[A[E|G|D|C]|

71. Answer: (D)
One person sits between F and E.
72. Answer: (B)
D sits second from the right end of the row.
73. Answer: (A)
D sits immediately left of the C.
74. Answer: (D)

In the above options, first person sits 2™ to the left of
2" person except in ‘F-H'.
75. Answer: (D)
A is immediate right of F.
Direction (76-80):
The final arrangement is as follows:

Month Person Fruits
June Anupam Guava
July Suraj Mango
August Shaurya Litchi
September Ram Apple
October Shreya Grapes
November Radhika Banana
December Rohit Kiwi
76. Answer: (D)
Anupam was born in June and likes Guava.
77. Answer: (C)

Shreya likes Grapes.
So, four people were born before the one, who likes
Grapes.

78. Answer: (C)
Rohit likes Kiwi and was born in December.

79. Answer: (B)
Four people were born between Anupam and
Radhika.

80. Answer: (B)
Option (a): Correct (Anupam was born in June and
likes Guava.)
Option (b): Incorrect (Shaurya was born in August.)
Option (c): Correct (Three people were born between
Shaurya and Rohit.)
Option (d): Correct (Rohit is the youngest.)

Direction (81-85):
The final arrangement is:
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81.

82.

83.

84.

85.

(in)

D
(out)C B (out)
(out) F E (in)
A
(in)
Answer: (C)
A sits opposite to D.
Answer: (B)

Three persons are sitting between A and B, when
counted from the left of B.

Answer: (B)

D sits second to the right of E.

Answer: (D)

C is fifth to the left of D.

Answer: (A)

If all the persons are arranged in alphabetical order
starting from position of A in the clockwise direction,
then two persons (C and D) remain in the same place
(except A).

Direction (86-87):

86.
87.

88.

89.

90.

91.

92.
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The final table is shown below:

Word | help order live beyond

Code | phk rde vip ynd

Word | hold control | level phone | dream
Code | dhl ort evl npe amd
Answer: (C)

“hold” is coded as “dhl”.

Answer: (C)

The code for “phone” is “npe”.

Answer: (D)

Given:

AB4I5D6G87E99Q7123Y52U7IN25
There are five alphabets (I, E, Q, Y and U) which are
immediately followed by an odd number.

Answer: (C)

Given:
AB4I5D6G87E99Q7123Y52U7IN25
There are five numbers (4, 7, 7, 2 and 7) which are
immediately followed by a vowel.

Answer: (C)

Given:
AB415D6G87E99Q7123Y52U7IN25
4, 6, 8, 7, 5 and 2 are immediately preceded by a
consonant.

Sums= (4+6+8+7+5+2) = 32

Answer: (A)

Given:
AB4I5D6G87E99Q7123Y52U7IN25
8" number from the right end=7

Seventh element to the right of ‘7’ is U.

Answer: (C)

The following Venn diagram can be drawn from the
given statements,

S

5| Page

93.

94.

95.

96.

97.
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&9

YA

From the above Venn diagram, only conclusion | and
1l follow.

Answer: (B)

Following figure can be formed:

°

From the following figure, both conclusion | and
conclusion Il follow.

Answer: (A)

Given: FACTORISATION

2nd - gth, 7t 12t and 13" letters of the word
‘FACTORISATION is A, R, I, O and N respectively.
Six meaningful words, RAIN, IRON, RANI, NORI,
ROAN and NOIR can be formed using the given
letters.

Answer: (A)

Given word:

POWERFULLY

The 1%, 2", 5t and 7"letters are ‘P’, ‘O’, R’, ‘U’. The
word formed will be ‘POUR’.

The 2" |etter of the word from the left end is ‘POUR’
is ‘O'.

Answer: (B)

Given:

A>B= C? D=E<F

Option (a): Replacing “?” with >

A>B2C>D=E<F

Here, A > D is true but F > C is not true as
relationship between F and C cannot be determined.
Option (b): Replacing “?” with =

A>B=2C=D=E<F

Here, A>Dis true and F > C is true.

Option (c): Replacing ‘?’ with <

A>B=2C<D=E<F

Here, A > D is not true as relationship between A and
D cannot be determined and F > C is true.

Option (d): Replacing “?’ with =

A>B2C2D=E<F

Here, A > D is true but F > C is not true as
relationship between F and C cannot be determined.
Answer: (B)

Given:

T U W V

Option (a):

T>U=Wz2V

T2V is false.

Option (b):

TzU=W=V

T2 Vis true.

Option (c):

T=2U=W<=sV

T 2 V is false as relationship between T and V cannot
be determined.

Option (d):
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TsU=W=2V
T2Vis fal lationship bet TandV t
1 detlesrrr?irslgd&.ls relationship between T and V canno DAILY NEWS
Direction (98-99):
From the above information we get the following ANALYSIS
figure: S P
c8 30m cé
25m
35m
ca[ ®™ ca

20m €1 45y C5 MENTORSHIP i~ IAS
GENERAL STUDIES & INTERVIEW,
T R s e

c2 10m c7

=10 Important News Brand Promotion __Mobile Screen Friendly

98. Answer: (C)

Car C8 is to the north-west of Car C1. ? : .
99. Answer: (D) 7 Price: Z 8,499/~ for 6 Month

Second Car is to the north-east of First Car except in
option d.
100. Answer: (C)

Given Statement: Q=C>R=P2D:M2Z>P =S STUDY

On combining, we get,

M2Z>P=S<R<C=QM=2Z>P=S2D MATER'AL K|T
Conclusions:

I.S>D:False (As, M2Z>P=S2D, so, S2D)
II. M= C: False (As, M2Z >P =S <R <C(, so, the
relationship between C and M cannot be determined)
l.D<Z:True (As,M2Z>P=S2D,so,D<2)

DAILY 2

» Karikkiri Bird Sanctuary-Tamilnadu

» Suchindram Theroor Bird Sa

. 200 > T il
» Udhayamarthandam Bird Sanctusry-Tamilnadu E B A e | K Bk S & 4 Books 1,400+ Pages (7 7,250+ Questions

# Vaduvur Bird Sanctuary- Tamilnadu Dee
» Bakhira Sanctuary-Uttar Pradesh ; e Price: Z ]],999/— Per Book
» Lakh Bahosi Bird Sanctuary-Uttar Pradesh SlL R N Bov

Py | ° -

mEsSMUS

M@&NTHLY

CURRENT AFFAIRS

==l 5 MAGAZINE

CURRENT AFFAIRS | BRAND PROMOTION | MARKETING

153 Different Slides Brand Promotion _ Highly Engaging

Price: 2 5,999/~ for 6 Month (10 Slides)

o PRICE '
%.;4,490/—;

PIRQsSE | <

SUBSCRIBE NOw!!

www.tesmus.com
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English Language

Direction (01-05): In the following question, one part of the
sentence may have an error. Find out which part of
the sentence has an error and select the appropriate
option. If the sentence is free from error, select 'No
Error'.

1. (A) The future of the Antarctic hangs
(B) in the balance and these cities have
(C) a key role to played in securing the
(D) future of this fragile continent.
(E) No error

2. (A) Seagrasses are often called
(B) foundation plants or ecosystem engineers
(C) because they modify there environments
(D) to create unique habitats.
(E) No error

3. (A) North Korea, which also has
(B) dozens of nuclear weapons,
(C) signed that treaty in 1985
(D) but withdraws in 2003.
(E) No error

4. (A) The show was both a fun,
(B) twisty mystery and also a specific piece
(C) of art put together by an artist
(D) with a singularly point of view.
(E) No error

5. (A) With this decision, nine judges
(B) made it possible for the country
(C) to institutionalize peace after
(D) 50 years of internally conflict.
(E) No error

Direction (6-7): In the question given below, a sentence is
given with one blank, followed by five options, each
having a word which may or may not fit in the blank.
From the given options, choose the one that gives the
correct word that fits in the blank.

6. During the of the British empire, thousands
of women from India and other parts of Asia were
brought to London to look after young children.

(A) transit (B) periodic
(C) churl (D) heydey
(E) lexicon
7. Business practices connected to the idea of a circular
economy have gained _____in recent years.
(A) accumulation (B) traction
(C) affectation (D) insinuation

(E) assimilation

Direction (08-11): In the question below, a sentence is given
with four words highlighted in bold. One of these four
words may either be wrongly spelt or inappropriate in
the context of the sentence. Find out the word, which
is wrongly spelt or inappropriate, if any. If all the
words are correctly spelled and appropriate in the
context of the sentence, mark (E) as your answer.

8. Colombia, a middle-income South American nation,
may simply lack the institutional capacity necessary
to fulfill its own landmark agriment.

(A) lack (B) capacity
(C) fulfil (D) agriment
(E) All are correct

App :- http://bit.ly/TesMusPrime

9.

10.

11.

Computers increasingly become principal actors in
leveraging data to formulate questions, which
requires radical new ways of reasoning.

(A) increasingly (B) leveraging

(C) formulate (D) radical

(E) All are correct

Looking like cartoon caricatures of Arctic birds,
puffins flew alongside the boat, a prelude to the great
seabird colonies on the clif.

(A) caricatures (B) prelude

(C) colonies (D) clif

(E) All are correct

Lawsuits over cryptocurrency losses
are mounted across the country, asinvesting in
digital tokens and coins has become mainstream and
the money at stake has increased significantly.

(A) mounted (B) investing

(C) mainstream (D) stake

(E) All are correct

Direction (12-14): In the following question, a sentence is

12.

13.

14.

15.

given with a phrase or idiom highlighted in bold.
Select the option given below that can replace the
highlighted phrase and mark that as your answer.

The car broke up on my way to the office but luckily
the garage was nearby.

(A) broke through (B) broke off

(C) broke down (D) broke into

(E) No improvement

When | need some motivation, | always fall back
on Toni Morrison’s books.

(A) fall through (B) fall short off
(C) fall down from (D) No improvement
(E) fall off

We should all work with our collective goal of a
cleaner and greener earth.

(A) work towards (B) work through

(C) work out (D) work away

(E) No improvement

In the question below, four words are given, two of
which may or may not share a synonymous or
antonymous relationship. From the given options,
choose the one that provides the correct pair of
synonyms or antonyms.

1. renovate 2. Venerate
3. Adulate 4., Adulterate
(A)land?2 (B)land 4
(C)2and 3 (D)2 and 4

(E) All are synonyms

Direction (16-20): In the question given below, a set of

2| Page

sentences is given, which when properly sequenced,
form a coherent paragraph. Arrange the sentences in
the correct sequence, and answer the questions that
follow.

P. Fish is widely known as a healthy food, rich in
protein and other nutrients, so how can this be?

Q. A combination of overfishing, pollution and
environmental damage has led to significant losses in
both quantities of fish (biomass) and the number of
fish species (biodiversity) available.

R. People in Bangladesh are now eating 30% more
fish than they did 20 years ago, but they are getting a
smaller amount of important nutrients from it, a new
study shows.
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16.
17.
18.
19.

20.

S. In Bangladesh as in many regions in the world,
naturally harvested fish, which is known as capture
fisheries, are faltering.

T. Well, it comes down to the types of fish available
for people to eat.

Which of the following would be the FIRST statement
after rearrangement?

AP (B)Q
©)R (D)S
eT

Which of the following would be the SECOND
statement after rearrangement?

(AP (B)R
©Q O)s
eT

Which of the following would be the THIRD statement
after rearrangement?

(A)Q (B)P
©R OT
(E)S

Which of the following would be the FOURTH
statement after rearrangement?

(A)Q (B)R
©rP Os
eT

Which of the following would be the FIFTH (LAST)
statement after rearrangement?

AP (B)Q
©)R (D)S
eT

Direction (21-25): In the following passage, some of the words

21.

22.

23.

have been left out and replaced by a blank
represented by a letter. First read the passage and try
to understand what it is about. Then fill in the blanks
as per the questions given.

Diet soda drinkers, beware. Recent epidemiological
studies have confirmed that the sweeteners used in
diet sodas and other lite drinks increase the risk of
type 2 diabetes. Often asymptomatic, type 2 diabetes
is the most common form of diabetes, and is most
often found among people who are overweight and
__(21)___ . Even though the quantity of artificial
sweeteners in our diet has increased __ (22)__ in
recent years as industrial manufacturers add them
with growing __ (23)___ to not just drinks but also
cereals, biscuits, cakes, low-calorie yogurts and even
certain medicines, reliable and ___ (24)___ data on
their health impacts are rare. Such products are
marketed as low-calorie alternatives that are therefore
healthy. This perception ___ (25)___ consumers to
overuse sweeteners to avoid putting on weight. But,
even in moderation, these additives can have
negative effects on health. Today, sweeteners are
increasingly  controversial, and suspected of
contributing to weight gain and being carcinogenic.

(A) conventional
(C) solemn
(E) infamous

(B) sedentary
(D) commensurate

(A) conveniently
(C) conclusively
(E) luxuriously

(B) sensibly
(D) massively

(A) annihilation
(C) misnomer

(B) loyalty
(D) abandon
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24.

25.

(E) confluence

(A) precise
(C) endearing
(E) overwhelming

(B) gullible
(D) extravagant

(A) surveils
(C) predominates
(E) postulates

(B) encourages
(D) inculcates

Direction (26-30): Read the following passage carefully and

3| Page

answer the questions that follow.

The mighty Himalayas act as the water tower of the
South and Southeast Asian region. More than ten
major rivers originate from the Tibetan Autonomous
Region of China. And for the past decade, India and
China, the two biggest geopolitical forces in the
region, have engaged in a hydro-power race to
harness this power. The waters that flow from the
Himalayas know no borders. These rivers include the
Brahmaputra, the Yangtze, the Mekong, the Sutlej,
the Indus, the Salween, and the Huang Ho, which is
also known as the Yellow River.

The Brahmaputra has a total length of 2,880
kilometres with a total drainage area of 5,73,394
square kilometres. It is shared by China, India,
Bhutan and Bangladesh. The river is known as the
Yarlung Tsangpo in China, the Siang and the
Brahmaputra in India and the Jamuna in Bangladesh.
The Brahmaputra is the lifeline for communities living
along its banks. The path of the Brahmaputra has
sculpted the natural and human landscape of two
north-eastern Indian states, Arunachal Pradesh and
Assam. The river nourishes the young and fragile
ecology of the Eastern Himalayas and the rich
diversity of people and languages in this frontier
space.

In recent years, the central governments of India and
China have decided to tame the Brahmaputra, by
building hydropower dams. Among them are the
Lower Subansiri Project and the Dibang Valley
project. As many as 168 memoranda of
understanding have been signed between the
Arunachal Pradesh state government and private and
public dam-building companies to build medium and
large dams in the state.

The legendary 20th century Assamese singer and
composer, Bhupen Hazarika, mentions the
Brahmaputra river in one of his popular compositions
Bistirno Parore. He was influenced by the American
standard, OI' Man River (Show Boat, 1936), sung by
African-American artist Paul Leroy Robeson, who was
involved in the American civil rights movement. In his
song, Hazarika asks the mighty Brahmaputra the
reason for its quiet and unbounded flow, amid the
suffering and pain of the people living by its banks.
Today, the song can be reinterpreted to reflect the
great uncertainty and fear among the communities
living in the Brahmaputra river basin, exhorting the
river to answer back and not keep quietly flowing
amid all the dam building.

In upstream Arunachal Pradesh, and downstream
communities of Assam and Bangladesh, concern is
widespread about plans to construct mega-dams by
both China and India and water diversion
infrastructure projects by China along the river
system. The size and scale of proposed infrastructure
developments on this river, and the wider region, is
unprecedented in the development history of
northeast India. Indigenous communities of the region
are worried they will face tremendous social and
economic upheaval if the projects go ahead.
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26.

27.

28.

20.

This may not go down well with Beijing. India’s policy
of pursuing hydropower development in Arunachal
Pradesh could have a negative impact on bilateral
relations. New Delhi is essentially using this critical
biodiversity hotspot to legitimise its sovereignty claims
over Arunachal Pradesh by building mega
hydroelectricity projects.

The Indian government’s hydropower obsession has
led to great fear among local communities in
Arunachal Pradesh and Assam, for the first time
significantly overriding existing concerns about
upstream dam building projects by China. Recently,
local people have taken to the streets in large-scale
protests to voice their dissatisfaction.

The way forward must be to highlight the Himalayan
environment as an area of cooperation between all
the South and Southeast Asian countries that share
the transborder water resources in the region. The
only way to understand the Brahmaputra better is
through a mix of modern research methods and
traditional community-based knowledge systems. This
approach should be central to any dialogue between
and within the countries served by the river. An
emphasis on multilateral cooperation will dispel the
prevailing sense of conflict on this crucial river. The
Brahmaputra, meanwhile, meanders along
ceaselessly, shifting between its moods of ferocious
rampage and eternal quiet flow.

Which of the following statements about Bhupen
Hazarika’s song on the Brahmaputra is TRUE?

(A) His song was influenced by an American
counterpart.

(B) His song received international acclaim.

(C) The song was the first one on the
Brahmaputra.

(D) The song has been interpreted to reflect the
contribution of the river to the communities.

(E) All are true

river

Why is there widespread concern about Indo-Chinese
plans to construct mega-dams on the Brahmaputra?
(A) It will cause a lot of floods.

(B) It will disrupt the lives of indigenous communities.
(C) It will be too costly for India to afford.

(D) It will ruin relations with neighbouring countries
like Pakistan.

(E) It will be detrimental for the environment.

Which of the following statements about the
Brahmaputra river is FALSE?

(A) Itis known as Jamuna in Bangladesh.

(B) Its waters are shared by China, India, Bhutan and
Bangladesh.

(C) It has played a role in shaping the natural and
human landscape of Arunachal Pradesh and Assam.
(D) The Brahmaputra is the longest river in the world.
(E) The Brahmaputra originates from the Himalayas.

What has been the response of local communities of
Arunachal Pradesh and Assam to the government’s
hydropower obsession?

(A) A number of them who hold public sector jobs
have gone on strike.

(B) Many of them have taken to the streets to protest.
(C) They have written petitions to the government.

(D) They support the government’s efforts in this
sector.

(E) They are content as the government has given
them adequate compensation for the impact of the
dam construction.
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30.

31.

32.

33.

34.

35.

36.
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Which of the following words is closest in meaning to
the word ‘dispel’ as used in the passage?

(A) banish (B) allure
(C) hinder (D) incite
(E) mediate

Quantitative Aptitude

U2l A 23,300 Pl A I Th IIU Y&
b1 oo HEA de, Uler 24,400 &1 A% HRb
ITb Y G T W@ Hfd P dlities oY
38,000 H ¥ UQT &I 34,500 U gU| Ulex favaH
HEIHI & 916G Hadd | R g

(A) 3 75 (B) 7 WiE

(C) 6 TR (D) 5 WEH

(E) 4 A&

3, Wg et fau e oY & ugd IR wElAl |
3900 Ufd A8 Td Il & 3R I a9 & 3T
316 HEH! | 1500 Ufd A8 W9 &l g1 afe 39
a¥ @) IGPB! i s 226000 T, ol GBI

3T ARy 31 1 B

(A) 21400 (B) 1600
(C) %2200 (D) %1800
(E) 2000

‘A 3R B Y ITHM ST BT ST HH: 4:5 7
g @ ¥ 14 T 915, ITH! 3G HT I 100 TH
BN, Al ‘A’ B a9 3T T BT

(A) 40 ¥ (B) 44 a4
(C) 36 TN (D) 32 99
(E) 28 TN

Ad # R 3 (U 3 BT 72% T fopan
xﬁwwmsﬁ%mooo%aﬂm% 30 7,
3T TN s W 20% ®! gfx HI, Ot ot A
I U 3 &1 forden ufawra @ fam
3R 30 H 3 SRR 7)

5%

%ﬂ,

(A) 68.5% (B) 72.5%
(C) 66.4% (D) 58.6%
(E) 74.2%

2 See 3R 1 U &1 HT Yo &I AT 31960 § 3R

5 dee 3R 2 T & Y eI BT ANT 74520 B 15%

gmrﬂuum I qTH W Sfold aH @ H) T
?

(A) 115 (B) 90
(C) 100 (D) 80
(E) 125

T fachar A foodll avq &1 39 Ha Tod ¥ 80%
st siferd foha| afe a5 39 a%g BT 222%
JC B 9IT §, N I B aTa arH/g1 ufawra
T1d HIfTe?
(A) 433 %
(C) 60%

(E) 835 %

(B) 662%
(D) 40%
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37.

38.

39.

40.

41.

T Afdd 7 21,200 BT 20% U a9 JIROT STl
P X T 3MR 2800 BT 25% Ul TN JTYRUT TS
DI R a1 foa, @ 39 4 o S1¢ U Fa A
I1d S|

(A) 32,760 (B) 33,760
(€) 1,760 (D) %2,250
(E) 33,250

TP 480 Wex fisor @ + urh) o g 8k U
HURT: 5:7 F U | g1 afe f3u 7y fysyor & vy
ex gy firer fear man 8, d ufvomdt fargor & gy
3R U &} AT HT U 6:7 B ST &1 'y B
HH A BIIT?

(A) 60 (B) 50
(©) 40 (D) 30
(E) 35

'P' 3 TH B BT 21 G § 7 o Il ©
Safe P 3R 'Q iR I & &) 10 e A
R IR IHd 1 'Q gRI 15 &l & Py 7 pat
HTH HT HIT 1A BT

(A) (9/11) (B) (11/14)
(©) (9/14) (D) (7/9)
(E) (4/5)

U 19 gRI Ulse ‘A’ 9§ Ulse ‘B’ d 3R bR Uige
‘B’ Y UISC ‘A’ Bt g DI ad HA H foran a1
gAY 22.5 °¢ § SafP Uid U | 19 Dt A 12
fopeit/der g S YRT bt T1fd F 200% 31 g1 Ulse
‘A 3R B P S BT g3 A BT

(A) 112 et (B) 160 fopdt

(€) 90 Tt (D) 120 Tt

(E) 180 fopt

TP THR wie & uRAT 120 Ht § 3R TP
AATHR e &1 &A% dBR WIT & STHd
J 60% 3P Tl Th AATPR Wi BT &Ihd
i 7 I1a Bifore?

(A) 1400 (B) 1440
(C) 1240 (D) 1600
(E) 1100

I3 (42-43): Pufifed vy & vyars g 7) F A

42.

43,

TR I fHa-T 714 3TTT? (&4 ¢ : MUY Idid
T P 0T A B1 SU&T T8t B &t 1)

19.98% of 999.998 + V224.98 = ?
(A) 170 (B) 185
(C) 245 (D) 215
(E) 200

(14.01)? + (5.98)2 = 7 - 19.98

(A) 52 (B) 152
(€) 352 (D) 252
(E) 292
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fAdwr (44-50): foU U S5/ A uyaES IR (7) F ”_E

44.

45.

46.

47.

48.

49.

50.

51.

TR T 3TE?
(1/2) = (3/2) + (4/12) x (9/6) = (?/2)
(A) 5 (B) 6

(©2 (D) 3

(E) 4

240 =15+ 112 +8 =7

(A) 35 (B) 30
(©) 42 (D) 50
(E) 40

(380 + 20-7) x ? =420

(A) 30 (B) 45
(€) 35 (D) 29
(E) 31

(1/5) + (2/15) + (5/7) =22 x ?

(A) (1/21) (B) (1/19)
(©) (1/23) (D) (1/17)
(E) (1/18)
955 — 25% of 176 + 33266 = ?
(A) 34157 (B) 34189
(C) 34158 . (D) 34177
(E) STH A 1S T8l
12% of 20% of 500 + 120 = ? x 4
(A) 25 (B) 45
(C) 60 (D) 33
(E) 48
(18 x 19) + 262 = 7 x 2
(A) 309 (B) 409
(C) 509 (D) 519
(E) 319

frd=r (51-53): Fafafea demt te y@er a9 g
fqwa &1 g1a He?
1086, 1093, 1114, 1149, 1197, 1261
(A) 1086 (B) 1093
(C) 1114 (D) 1197
(E) 1149

52.

53.

5| Page

120, 116, 104, 84, 52, 20

(A) 116 (B) 52
(C) 20 (D) 84
(E) 104

96, 144, 216, 320, 486, 729

(A) 144 (B) 486
(C) 216 (D) 320
(E) 729
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fadwr (54-55): Ui # & gHleRr | 3R 11 R U €

54.

55.

D! x 3R y & T TEt Yae W a1 & forg

(E) 25

T gt Bl g BT § 3R el faswed AT 131 (61-65): T & Wt TFHRT & YR W UYl &

gl

l.x?—12x = -32 Il.y? + 45 = 18y
(A) x>y (B)x <y
(C) x = y TT Y&y W10 &1 fobam ST Geball
(D)xzy (E) x=y

1.L4x> +24x+35=0 I.8y>+26y+15=0
(A) x>y (B)x<y

(C) x = y TT Y&y W10 g1 fovam ST Geball
(D) x<y (E)xzy

frcar (56-60): R & TR TEAR F AMUR W UA B

56.

57.

58.

59.

60.

IRl

F3 T ¥ Afdadl & o9 3% gRT We fby
Y 3R Weae @R HIF TT W o) B UPR &
TR H gdeur fear T 1| 27 Afad 9 @ 3R BIH
3R 7 8 W 9 TG B g1 110 Jfeaar Pl
W 9 Ude 8, FOrH 45 AfFTal &) gW B
1t 7T B1 Had W P UG B It AT
P! WS Had a2 ol TG B aldl B e o
23 3 ot

Terur B it cafaaal Bt o e fhat 82
(A) 180 (B) 200

(C) 240 (D) 225

(E) 198

Fad R P UG HRA aTel Al b e o
T3S B T 3R Afedrst & & &1 Surd
3:5 81 Had gIR i UG B arelt Afganay o
e et 87

(A) 60 (B) 55

(©) 70 (D) 50

(E) 33

T Aol o T 51 3R UISde UdiE 31Tl 57
(A) 184 (B) 155

(©) 160 (D) 153

(E) 175

T dl TR P SR 7 g g 9 TE B a1l
fdTdl B T@, 3T P 3R 3R O GHI Udg
P ATl TR @1 T B fhaT uferrd &2
(A) 60% (B) 40%

(C) 55% (D) 70%

(E) 65%

TR S YIS P dTel Afrdl b1 AT 3R bad
B B TG HIH Il Afeddl di BT & o
BT 3R fpa 82

(A) 30 (B) 22

(©) 27 (D) 18
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61.

62.

63.

64.
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IRl

ngw+w+%?maﬁﬁﬂwﬁ
ggfar gl

6000
- 5000

A B Cc D E

——Total number of flowers sold

I fean T IR W% TS Ui gl gRT o T
HHA R TS &1 =T B T ]

E5 [2800] i)
12300 — 2100

® Number of lotuses sold

1 Number of roses sold

I gHM 'F §RT S 7T HHA 3R [ATS B T-
BT SJUTT AT 2:3 § R $HP GRI 99 T HHA
3R T[elTel Pt ST TAT 1250 §, A gHH 'F 3R
P 'A' GRI 99 U T[AE &I HBIT & o Bl
3R JTd BifoTe?

(A) 200 (B) 250
(C) 300 (D) 350
(E) 400

EH A’ 3R ‘B’ gRT S TR forcht @Y e &
S BT 3R J1d B

(A) 100 (B) 200
(©) 180‘ ‘ (D) 250
(E) 378 ¥ Bl Tol

TP 'C' GRT od U HHd, A9 3R el $i
TR T HH: AT fahaT 8

(A) 15:12:23 (B) 8:5:5
(C) 25:23:22 (D) 28:21:11
(E) 6:3:1

GHM 'D' GRI & T Bl DI Hal HB, gl A,
'B' 3R 'C' gRT AR 59 T A ST $od T
&1 fora ufaerd 87

(A) 25% (B) 40%
(C) 60% (D) 75%
(E) 50%
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65. A gHM 'Q gRI ot W fereft &Y e g ¢
DI g T 61.6% 3P @, dl M 'Q gRT ot

G 3R F & 19 al Afdd 96 § 3R F frd t
AT BRI TR YT RIITEIG AP SE I

Tt foreft &t e 3 ®e2 TR RVME R ST D, A 3R F F T A T8l 937
(A) 4020 (B) 4400 BIEDHF I I GR VAR ISI &1 A& C A&
(C) 4040 (D) 4004 H,F & a0 # 98 §1 D 3R ¢ & &9 3ifiau
(E) 4440 AR 95 8
71.  F3RE S o9 b aufea 98 &7
3 (66-70): = € TS WHBRI B YR W U & (A) I (B) it
IRl (€) IR (D) U
(E) Feffea 78t foman S wavan
1 f&sS (N1, N2, N3, N4, N5, N6, N7, N8, 3R N9) _ _
T T P FW 39 YHR @ T ¢ i Je@ -4 72.  UfGd & T BR W gW WM W B 93187
I fosy o1 AT 1 8 3R Ta SR aral fEa &t (A)E (B) D
BT 9 7, i Tl T fob 320 s H | ©F (DB
N6 3R N2 SF 9 T @ sifhd &3 §1 N8 (E) 370 A I3 Hit T
3R N7 G Y=g e 9 sifdd &3 &1 N1 _
3R N3 P T ) fosy @ T I N3 BS e & 73.  C & AehI ST P 901 &7
SR U favd T= ¥ siferd fSsam g1 N9 &Y N5 (A) D (B) A
& al f&ed SR W T B 1 N6 BT N9 B SR 3@l (©)B ~ (D)H
TR 1 N7 BT N8 & deebTel SHUR 3G a1 B | (E) 370 A I3 Hi T
66. MURINGd Ui § ¥ 9R U 9E & YR W T 74.  fawH @ gAE AR
Ay e ¥ gaF § Fufafad & 9 o9 39 (A)B-A (B)F-E
g @ Tafda TeY 27 ©A-G (D) F - H
(A) fssaT N9 (B) f&&aT N5 (E)G-C
() f&sa N7 (D) f&saT N6
(E) fS=81 N8 75. F & Iy 7 A &7 T I 87
(A) THTS ST (B) T & GO
67. _ fooui ey N4 & I T T B © IR (D) TP T
(A)?ﬂtf (B) Ui (E) 370 A ®1S T
(D) T ¥t =&
(E)Buﬁaaﬁﬁaﬂs‘qﬁ 3= (76-80): A €l T SFHR & sMuR WR fafafad
Uy HIIW
68. T N5 B §idd N7 & SHUR ____ S 341 T[T
Bl Td Afaadl M, Afed, AT, oo, |, IR
(A) TH (B) A IR F BT o 9 2000 F o ¥ UK dP
© &= (D) TR 3{CHT-3(CHT LT BT Ul TG 1 Ehefl &1 3¢
() e &t fobam s wrepen U4, IR, 3MAEE, ol 3, =l 3R Pidt & &
ST 3T el TNE & |
69. Mg # ¥ HH-T1 o Ffdd Tu 4 wet 32 A Y 1 GG Bl & 3R IHbT SH Ryclr AT
(A) TS N6 3iTaar s & TR T g3 UT| GRSl BT ST il H gafr of 3R
(B) N3 3R N6 & s Ueb f&eaT w1 a1 & q8 31 UG el 61 GRSl SR SR WE B
(C) &1 N2 BaT fesa & ard & s & AN BT S gl ARd BT oA
(D) T () 3R (8) 3R T A ITQ Sl & a1e gaim U1l A1 b
(E) T4 (B) 3R (C) S Afed ¥ & HEH Usd gor o1l =™ &I ot
T¥e § 3R g A 30 fel arat #el # Yar e
70. I N1 & dio R R mn B g1 | ARGT BT 377G THE T B e THS
(A) fgsaT N7 (B) f&=sm N2 HRA I Afdd BT S I UiE HRA a1 Afad
(C) f&saT N5 (D) fe&saT N6 & dHIA Ugd g3 ATl 3H¥e Udg H drd
() Feffva =2t fasar s e Hfad BT S GRol Y Uga gafl ol
i (71-75): RU T SH@R & MR W Al & 76.  SUAGIGH __ HEM TR g WHQ
I Gl FRAT g
(A) TR, 3R (B) 37T, Pidt
3113 SH A, B, C, D, E, F, G 3R H Teb &feret Ufd (©) feFeR, et (D) ¥, $HEC
IR fIM T WA FRA LS T (E) IRV H H PIg el
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77.

78.
79.

80.

SR TR F 1 T D U e T e

U

A @ (8) A

(€) IR (D) UiT

(E) T 4t 7igl

__ S we g R ag___ A dargen
(A) 3IUH, JeiTs (B) IR, TGsR
(C) Afed, fedeR (D) 341, 3T

(E) SWIFd & I PIs Tal

S R TR ¥ i fe T e gu
(A) U (B) IR

(€ &= D)

(E) T 4t 7Igl
fRfaRad & ¥ o 91 HYT 3/ 82

(A) 39 BT SFF S H oM T 3R 98 3M1%g
UG Pl §

(B) I T 5T T g

(C) I SR AT b sft=r A <Al b1 ST g U1
(D) AT TIA BT §

(E) T2ft B 3 §

fad=r (81-85): AU 7T TR & MYR W <l &

81.

82.

83.

84.

IRl

B8 K A, B, C, D, E, 3R F T YTHG-3HR b
A9 & HIF R IS § 61 PO &1 98 Hs I AR 8
IR FS BT TE % Y TR BT AR B

C, A I Y gWR RIF R 91 81 B, E & dabTd
TF Yo1 2§ AR E F P Tl & fuda fomm &1
I FRd 81 C 3R E & did &l Ffad 98 81 A, D
& I W TS doT |1 B MR C TH =M &7 T
FRA § W E & f[AUdI ¢, D & TbTd a1 T8l 937
21 F BT 08 &g 31 R 781 5

D & fqudid &9 Sa18?
(A) C (B) B
(O A (D) E

(E) TR I DS ot 7Y

B & &Y ¥ TUMT & §T, A 3R B & & foba
T 98 87

(A) & (B) <fiH

(C) TH (D) IR
(GEERIEE

EP o A SR W R B 98187
(A)F (B) D

(©)B (D) A

(E) STH I DTS ot 751
DHISH A C AT RTRIM?

(A) ThTA §1U (HELEER
(C) T T ™y (D) §T¢ Q U=l
(E) 370 4 DIs a1
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85.

e i ol oSl S aa s M A A F
R”F § Y& Hd gU Juighd § gafkyd foar
T ©, A febem Safed G RIM W I8 ¢ (A B
BISH)?

(A) Tl (B) T
() (D) U™
(E) 379 q FIs g1
frdw (86-87): A9 & T Ve & YR WR ULl b
w?:
T He HIW H,

86.

87.

. "help order live beyond’ W@% ‘rde, ynd, vlp,
phk'.

Il. ‘order beyond hold control’ &I ¢ & "dhl, rde,
ort, ynd’

ll. 'beyond control level phone' Ca 'npe, ort, evl,
ynd' & =9 & HIfSd fosar T g1

IV. ‘live hold level dream’ is coded as ‘amd, vlp,
dhl, evl’

HEIERT LIRS HT1He "dhl” B

(A) control (B) beyond
(C) hold . (D) level
(GESEREIERE]

faU T W1 F "phone" &1 Fe T GRTN?

(A) amd (B) evl
(C) npe (D) vip
(E) T4 o! fooar oI gapar

fadar (88-91): Twmialt iR quinren o RafeiRad saaw

88.

89.

90.

91.

8| Page

BT FHYID HET B SR FaEfated vy &1
IR 4

AB415D6G87E99Q7123Y52U7IN
25

%ﬁﬁmﬁ&rm%ﬁqﬁsmmwﬁmm
?

(A) & (8)

(C) IR (D) Ui

(E) SWIad & J BIs el

P TBI & TehTd 9l T WR 872

(A) T (B) TR

(C) U™ (D) U ¥ 3fH
(E) SRIad # q PIs I8!

39 gt Tt &1 AT fedn g, e doeTa
Ugd U ol 87

(A) 26 (B) 30
(C) 32 (D) 28
(E) SWIad & J BIs el

MW BRI 8 T & ¢ F Jradt ded HIH-9T1 82
(A)U (B) Y
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92.

93.

94,

95.

(€) 2 (D) 7
(E) SWRIad A q PIs Ta1

fFafafad Uy # IR Sy & 91 IR s |, 11, 111
3R v feu T §iemus! T U HUF &l 9
AT 8§ YA 8§ 98 T 9t § fie ot 8 8k R
Ig 09 1 ¢ b fou 7w s # @ i W@
e 271 HYAT BT THGIT SRV BT B
Y= gt T fafsar g

ot il frafean B

I. ﬁémﬁwmrﬁ:@%

. 8 fafean 9191 81 9hd §

Iv. Tt fafsar a1e1 g 9 §

(A) Fad P 11 3R 111 STER0T FaT B
(B) Had Y | 3R 11 SFTHRUT Rl §
(C) Had FmY | 3R 111 STTRT HaT §
(D) Fad FshY |1 3R 1V IR0 BT §
(E) STH Y BIS T

fafafad uy & & &Y & 918 & Fpy | SR |
few Tu g1 3! fau U HUF o Yg HEAT § HA
2 98 1 aut ¥ e off 81 iR R U5 ag B
® for fou T feasf & @ 19 11 sy 39 FHyAl
B aHITd FRAT B
ﬁwﬁémﬁwéﬁﬁ:@%

T gedl X §

Had PO IR TS 8

frspu: 1. W%ﬁgs‘rm%

Il. $B §eR P 8l

(A) Had T | 3R HRal §

(B) G e | 3R e 11 SITERUT Rl §

(C) Had Y 1| SIITRN BT §

(D) 1 & sl | 1 € e 11 TR R §
(E) a1 e | o7 s 11 SeR0T Rl §

e 'FACTORISATION' & ¢ BR ¥ W, B3,
HTAd, IRED IR Red 3HER BT TIRT IXb fba-

31Ul IR $1&R ATd Req ST o Whd 67
(A) T T 31w (8) 0

©x (D) TP

(E) T i T8t

Jf s 'POWERFULLY' ¥ 3f&R 'P' ¥ = B
g & 1Y BR F Ugd, G, Uad 3R I1ad $far
T U YUl SISl Weg ST WA B, ol 39 TRE
fAfHa <req & 9T BR I GIRT 1R 1 gm? Afe
U1 IS Weg &1 ST O Gebell @, dl IR B X
& &Y # fafgd 3, 3R Al T 9 offts Teg 7
IHA g A IWM B 'Y & U I fafgd w1

96.

97.

(A) O (B) Y
(©) X (D) U

(E)R

fofafed ddy o SH-91 Iuged fog amar S
AU AP A > DITGI 3R F > C A G
A>B2C?D=E<F

(A) > (B) =

(€)= (D) 2
GESEREIRIEG

faU TN o P 59 Re A W H & AW fs T
> v Afg U 3 ¥ g, FRofoad & @ -
Ui HA: Red ”IF # @¢ T aN 39 %A H)
QT ST 91 a?

T U WV

A) >, =, 2 (B)2 = 2

©) > = < D)< =, 2
(GESEREIRIES

frdar (98-99): AR & TE TEHR F YR W UL

98.

99.

100.

I <

3TS BN C1, C2, €3, C4, C5, C6, C7 3R C8 Th
I R H 3Y UPR Wal & fb €2, C7 & 10 HI
UfYm § ® 8iR C7, C4 & 20 | SR H B1 €3, 4
P 5 M UFE H I C8, €3 F 25 M I H B Cé,
c8 & 30 Wt gd A §1 €5, C6 & 35 I Efor H B
C1,C5 % 15 MU A B

PR C1 P JSH A BR s ol fezm 82

(A) ST (B) IR &
(C) SR Ui\ (D) &f&ur gd
(E) Sf&mor ufgm

fawm g1

(A) C1-C6 (B) C2 - C5
(€) C7 - C1 (D) C3-C2
(E) C4-C6

Uy H U U Y B 9 TFd gU A1 DI fs

fer M I feeef & @ o 9r/A ey [fdg

%Kqﬁw%/%aﬁ?fﬁwwﬁa?mmw
|

PY1:Q=C>R=2P=2D;M2Z>P =S

fAspd:1.s> D I.M=C

N.D<Z

(A) Had f=py | g @

(B) $ad Fspy | 3R 11 A B

(C) pad fFsp 11 T &

(D) o fpy || TT§

(E) Pad fspd | SR 11 9T &

Space for rough work
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English Language

Answer: (C)

In C, replace the second form verb PLAYED with
PLAY as the TO + VERB infinitive construction will
take the base form of the verb. Thus, C is the right
answer.

Answer: (C)

In C, replace the adverb THERE with the possessive
pronoun THEIR to modify the noun
ENVIRONMENTS. So, C is the correct answer.
Answer: (D)

In D, replace the present tense form verb
WITHDRAWS with the second form WITHDREW as
the sentence talks of a past event that took place in
2003. Thus, D is the right answer.

Answer: (D)

In D, replace the adverb SINGULARLY with the
adjective SINGULAR as it is being used to modify the
noun POINT. Thus, (d) is the right answer.

Answer: (D)

In D, replace the adverb INTERNALLY with the
adjective INTERNAL as it is being used to modify the
noun CONFLICT. Thus, D is the right answer.
Answer: (D)

We need a noun to be modified by the definite article
THE. HEYDEY (prime) will fit here as the sentence
tells us how, during the peak of the British empire,
thousands of Indian women were brought to London
to take care of children. Thus, (d) is the right answer.
Transit - transport. Periodic (adjective) - occurring at
regular intervals. Churl - a rude person. Lexicon -
vocabulary.

Answer: (B)

We need a noun to form the object of the verb
GAINED. TRACTION (act of drawing attention) will fit
here contextually as the sentence talks about
business practices related to circular economy
drawing attention in recent years.Thus, (b) is the right
answer.

Accumulation/ assimilation - act of gathering or

collecting.  Affectation - unnatural behaviour.
Insinuation - an unpleasant suggestion.
Answer: (D)

It should be agreement in place of agriment. Thus, D
is the right answer.

Answer: (D)

The sentence seeks to convey that computers
become principal (main) actors in leveraging (taking
something to gain advantage) data to formulate
(prepare) questions which require completely new
ways of reasoning. RADICAL (adjective) will be
inappropriate here and should be replaced with the
adverb RADICALLY (extremely) as we need an
adverb to modify the adjective NEW. Thus, (d) is the
right answer.

Answer: (D)

It should be cliff in place of clif. Thus, D is the right
answer.

Answer: (A)

Replace second form verb MOUNTED with present
continuous form verb MOUNTING as we need a verb
in present continuous form to fit in ARE + VERB
present continuous tense construction. The sentence
seeks to convey that lawsuits over losses incurred in
cryptocurrency are mounting (increasing) as investing
(putting money into) has become mainstream
(popular) and the money at stake (at risk) has greatly
increased.

Answer: (C)

(c) is the right answer. We need a phrase that means
to stop working. BROKE DOWN will be apt here as
the sentence talks about the car stopping to work.

1| Page
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15.

BROKE THROUGH- to pass through a barrier
BROKE UP- to break into pieces

BROKE DOWN- (of a machine) to stop working
BROKE OFF- to detach from a whole

Answer: (D)

(d) is the right answer. We need a phrase that means
to rely on. FALL BACK ON will be apt here as the
sentence talks about the speaker relying on Toni
Morrison’s books for motivation.

FALLS OFF- to decrease; to separate from a whole
FALLS THROUGH- to fail or be cancelled

FALLS DOWN FROM- to fall from a particular place
FALLS SHORT OFF- something is less in comparison
to something else.

Answer: (A)

(a) is the right answer. We need a phrase that means
to work to achieve a particular objective. WORK
TOWARDS will be apt here as the sentences talks
about working to achieve a common goal of cleaner
and greener earth.

WORK TOWARDS- to work to achieve a particular
objective

WORK THROUGH- to deal with a situation

WORK OUT- to exercise

WORK AWAY is contextually inapt.

Answer: (C)

ADULATE means to respect or admire deeply.
VENERATE is its synonym. Thus, C is the right
answer.

Renovate - revamp; change the look of something.
Adulterate - render something poorer in quality by
adding something else.

Direction (16-20):

16.
17.
18.
19.
20.
21.

22.

The correct order of statements in the rearranged
paragraph is RPTSQ. R begins the passage by
introducing the main idea that the passage revolves
around - people in Bangladesh are consuming more
fish that they used to do, but they are not getting
sufficient nutrition from it. P proceeds by posing the
question why this can be the case even when fish is a
nutritious and healthy food. T answers this question -
the amount nutrition obtained from consuming fish
depends on the type of fish consumed. SQ concludes
the para as a pair: S tells us how naturally harvested
fish, which is very nutritious, is declining in
Bangladesh. Q follows by telling us how overfishing,
pollution and environmental damage has caused
losses in the quality of fish.

Answer: (C)

Answer: (A)

Answer: (D)

Answer: (D)

Answer: (B)

Answer: (B)

We need an adjective to modify the noun PEOPLE.
SEDENTARY (having a lifestyle with little to no
physical activity) will fit here as the sentence tells us
how type 2 diabetes is found among people who are
overweight and doing little physical activity. Thus, B is
the right answer.

Conventional - traditional. Solemn - serious; grave.
Commensurate. corresponding in size or degree; in
proportion. Infamous - notorious.

Answer: (D)

We need an adverb to modify the verb INCREASED.
MASSIVELY (significantly) will fit here as the
sentence tells us how the quantity of artificial
sweeteners in our diet has increased in a significant
proportion. Thus, D is the right answer.

Conveniently - having a benefit or advantage.

Sensibly - wisely; prudently. Conclusively -
unquestionably.  Luxuriously - comfortably or
elegantly.
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Answer: (D)

We need a noun to be modified by the adjective
GROWING. ABANDON (lack of restraint) will fit here
as the sentence tells us how industrial manufacturers
add artificial sweeteners to food items without
practising any restraint on their part. Thus, E is the
right answer.

Annihilation - complete destruction. Loyalty -
faithfulness. Misnomer - a wrong or inaccurate name
or designation. Confluence - convergence.

Answer: (A)

We need an adjective to modify the noun DATA.
PRECISE (accurate) will fit here as the sentence tells
us how reliable and accurate data on the health
impacts of artificial sweeteners is rare. Thus, A is the
right answer.

Gullible - easily persuaded to believe something
wrong. Endearing - lovable. Extravagant -
superfluous; wasteful. Overwhelming - very great or
intense.

Answer: (B)

We need a singular verb to agree with the singular
subject PERCEPTION. ENCOURAGES (persuades)
will fit here as the sentence tells us how the
perception convinces consumers to overuse
sweeteners to avoid gaining weight.. Thus, B is the
right answer.

Surveils - closely monitors or observes. Predominates
- be the strongest or main element. Postulates -
suggests.

Answer: (A)

Refer to the lines: “The legendary 20th century
Assamese singer and composer, Bhupen Hazarika,
mentions the Brahmaputra river in one of his popular
compositions Bistirno Parore. He was influenced by
the American standard, OI' Man River (Show Boat,
1936), sung by African-American artist Paul Leroy
Robeson, who was involved in the American civil
rights movement.” These lines confirm A as true.

B and C are not mentioned in the passage.

Refer to the lines: “In his song, Hazarika asks the
mighty Brahmaputra the reason for its quiet and
unbounded flow, amid the suffering and pain of the
people living by its banks. Today, the song can be
reinterpreted to reflect the great uncertainty and fear
among the communities living in the Brahmaputra
river basin, exhorting the river to answer back and not
keep quietly flowing amid all the dam building.” These
lines confirm D as false.

Answer: (B)

Refer to the lines: “In upstream Arunachal Pradesh,
and downstream communities of Assam and
Bangladesh, concern is widespread about plans to
construct mega-dams by both China and India and
water diversion infrastructure projects by China along
the river system. The size and scale of proposed
infrastructure developments on this river, and the
wider region, is unprecedented in the development
history of northeast India. Indigenous communities of
the region are worried they will face tremendous
social and economic upheaval if the projects go
ahead.” Thus, B is the right answer.

The other options are not mentioned in the passage.
Answer: (D)

A is the right as it is mentioned in the passage, while
the other options are true.

Refer to the lines: “The Brahmaputra has a total
length of 2,880 kilometres with a total drainage area
of 5,73,394 square kilometres. It is shared by China,
India, Bhutan and Bangladesh. The river is known as
the Yarlung Tsangpo in China, the Siang and the
Brahmaputra in India and the Jamuna in Bangladesh.
The Brahmaputra is the lifeline for communities living
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34.

along its banks. The path of the Brahmaputra has
sculpted the natural and human landscape of two
north-eastern Indian states, Arunachal Pradesh and
Assam. The river nourishes the young and fragile
ecology of the Eastern Himalayas and the rich
diversity of people and languages in this frontier
space.” These lines confirm A, B and C as true.

Refer to the lines: “The waters that flow from the
Himalayas know no borders.These rivers include the
Brahmaputra, the Yangtze, the Mekong, the Sutlej,
the Indus, the Salween, and the Huang Ho, which is
also known as the Yellow River.” These lines confirm
E as true.

Answer: (B)

Refer to the lines: “The Indian government's
hydropower obsession has led to great fear among
local communities in Arunachal Pradesh and Assam,
for the first time significantly overriding existing
concerns about upstream dam building projects by
China. Recently, local people have taken to the
streets in large-scale protests to voice their
dissatisfaction.” These lines confirm B as the right
answer.

The other options are not mentioned in the passage.
Answer: (A)

DISPEL means to banish or make a feeling
disappear. Thus, A is the right answer.

Allure - tempt; charm. Hinder - prevent. Incite -
provoke. Mediate - arbitrate.

Quantitative Aptitude

Answer: (D)

Tiex &1 arH fe41 = 8000 - 4500 = 23,500
@, UeT SR fer & ary eRY BT 3FUTd, HH:
= 4500:3500 = 9:7

o fob foram ggiHl & forg diex = Sroet i1 &1
fAow foeam = 'k AEH

dd, (3300 x 12)/(4400 x k) = 9/7

T, 39600 x 7 = 4400k x 9

T, 63 = 9k

T k = (63/9) = 7

3, Ylex & ouaurg H WA 89 & HgIHl &l
T&AT=12-7 =5 HgH

Answer: (D)

RI8 &1 dIfid I = (900 x 4) + (1500 x 8)

= 3600 + 12000 = 315600

T B! a1 3T = 15600 + 6000 = 321600
3ty 3d = 21600712 = 21800

Answer: (D)

AT 'A' 3R 'B' & IHM 3T HHTT: '4x' TY 3R
'5x' I8 g

VAR,

4x + 14 + 5x + 14 = 100

T, 9x = 72

g, x = 8

3 A DI IIAF ML = 4 x 8 = 32 T
Answer: (C)

ATE § ORGP 3 = {14000/(1 - 0.72)}

= 350000

30 H TRA D1 §=d = 14000 x (120/100)

= 316800

a3 § IR BT T = 50000 — 16800

= 333200
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=TIy, TRT gRT U | T &I 718 ITD! 31 BT
Tfa=Id = (33200/500000) x 100 = 66.4%
Answer: (B)

T TH dee $THd oo = TA'

AT 39 0N &1 Jed = 3B

Y & 3R,

2A + 1B = 1960 ...... (1)5A + 2B = 4520...... (2)
gﬁﬂwmm)aﬁ?(aaﬁsamﬁw,sﬂmaﬂﬁ

1deC HT1HT e = 'A' = 3600

3 Affa 3rAférd A = 600 x (15/100) = 390
Answer: (D)

T a% &1 %69 Jod = 3100’

%] BT Sifdsd Yo = 1.8 x 100x = T180x

T RIS Ye = (2/9) x 180x = I40x

%] &1 fasha ged = 180x - 40x = T140x
SIS Y U= = {(140x - 100x)/100x} x
100 = (40x/100x) x 100 = 0.4 x 100 = 40%
Answer: (B)

4 9Nt & SfSTd HA ST = {(1200 x 4 x 20)/100}
+ {(800 x 4 x 25)/100} = 960 + 800 = 1,760
@, IR 991 & §Ig YT ot A1 = 2000 + 1760
= 33,760

Answer: (C)

ORI Y01 T g8 &1 AT = 480 x {5/(5 + 7))
= 480 x (5/12) = 200 ¥tex

IR fH80r & Uil &t °AET = 480 x {7/(5 + 7))
= 480 x (7/12) = 280 ¥lex

Y & 39R,

{(200 + x)/280} = 6/7

T, 1400 + 7x = 1680

T, 7x = 1680 - 1400

T, 7x = 280

T, x = 40

Answer: (B)

A $A BT = 210 3BTs {21 3R 10 BT LLM)
qq, 3B 'P' DI T&dl = (210/21) = 10 SHT3/feA
'P' 3R 'Q P b 1Y T&fell = (210/10)

= 21 gfe/feA

3 3hd 'Q P G&fdl = 21 - 10 = 11 SHT/fA
3T 'Q' gRI fpat 15 fet & foram o ik

=11 x 15 = 165 3BT

I, I BT ST TGS = (165/210) = (11/14)
Answer: (D)

o dfvre fr fig ‘A 8RB & & @ g !
frH g1

T7id oI § A1 &t 11 = 12 fe/der
YRT B 71 = (12/3) = 4 fpH/der

ATQ;

(d/(12 - 4)} + {d/(12 + 4)} = 22.5

T, (d/8) + (d/16) = 22.5

T, 2d + d = 360

T, d =120

i, fifg A’ 3R 'B' & S &1 g3 120 feht 1
Answer: (B)

FNHR YES HT URAT = 120 Hiex
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46.

47.

48.
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AHT TSR WIE Bt IAdD Yol Bt AdTs 'a’ Hex
gl

3{d:, 4a = 120

gl,a = 30

FHR YES HT &7%d = 30 x 30 = 900 T2
AP R YT S BT B = 1.60 x 900

= 1440 HR

Answer: (D)

19.98% of 999.998 + V224.98 = ?

20% of 1000 + V225 ~ ?

200 + 15~ 7
?~215
Answer: (D)

(14.01)% + (5.98)2= ? - 19.98
(14)2 + (6)2~?-20

196 + 36 + 20 ~ ?

? ~ 252

Answer: (D)

(1/2) + (3/2) + (4/12) x (9/6) = (?/2)
(172) x (2/3) x (12/4) x (9/6) = (?/2)
(3/2) = (2/2)

?7=3

Answer: (B)

240 + 15+ 112 + 8 =7
?=16+14

?=30

Answer: (C)

(380 + 20-7) x ? =420
(19-7) x ? =420

12 x ? =420

? = (420/12)

?=35

Answer: (A)

(1/5) + (2/15) + (5/7) = 22 x ?
{21 + 14 + 75)/105} = 22 x ?
(22/21) =22 x ?

?=1/21

Answer: (D)

955 - 25% of 176 + 33266 = ?
? =955-0.25 x 176 + 33266
? = 955 - 44 + 33266

? =34177

Answer: (D)

12% of 20% of 500 + 120 =? x 4
12 +120=7? x4

?=132+4

?=33

Answer: (C)

(18 x 19) + 262 =? x 2

342 + 262 =?x 2

342 + 676 =7 x 2

1018 + 2 =7
? =509
Answer: (D)

1086 + 7 x 1 = 1093
1093 +7x3=1114
1114 +7 x 5=1149
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1149 + 7 x 7 = 1198

1198 + 7 x 9 = 1261

3(d; 1197 & VM W 1198 AT AT
52. Answer: (B)

120-4x 1 =116

116 -4 x 3 =104

104 -4 x5=84

84-4x7 =56

56-4x9=20

3T 52 & RIF W 56 T ARG
53. Answer: (D)

96 x (3/2) = 144

144 x (3/2) = 216

216 x (3/2) = 324

324 x (3/2) = 486

486 x (3/2) =729

31T: 320 o R TR 324 31 91|
54. Answer: (C)

|

x2—=12x = -32

gl x4 - 12x-32=0

Yl x2—8x-4x-32=0

g, x(x-8)-4(x-8)=0

ql, (x—4)(x-8) =0

3d:;, x=4o0rx=28

1K

y? + 45 = 18y

ql,y>-18y +45=0

ql,y2— 15y -3y +45 =0

gl y(y-15)-3(y-15 =0

gl (y—-15)(y-3)=0

Hd:, y = 15Ty =3

X REK y
4 > 3
4 < 15
8 > 3
8 < 15
SHfoM Weel R 76T fobaT ST qahall 1
55. Answer: (D)
|3

4x° + 24x +35 =0

4x%2 + 14x + 10x + 35 =0
2X2x +7) +52x+7)=0
2x+5@x+7)=0

x =-5/2,-7/2

Il

8y>+ 26y + 15=0

8y? + 20y + 6y + 15 =0
dy(Qy + 5) + 32y +5)=0
4y +3)2y +5 =0

= -3/4,-5/2

X Y y
-5/2 < -3/4
-5/2 = -5/2
-7/2 < -3/4
-7/2 < -5/2
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3{d:, x <y

A3 (56-60): Had 3T S U B ATl pt BT

56.

57.

58.

59.

60.

=110 - 45 = 65

N, Had gUR HIH UG B aTdl B U=

=65 + 23 = 88

W U 3R 8 PIH GHI GIG B ardl B
TBAT = 45

39 AN B T fo g 9 Y 8RS IH 3R 7 81 3
Sd TG § = 27

I, Tderur {7 A & o S=

=65+ 88 +45 + 27 = 225

88

Number of people who
like neither hair cream

Hair Cream Hair Gel

nor hair gel
Answer: (D)
Fd&fuT o T ANTF &t Hof AT = 225
Answer: (B)
$Id TR HIH U B aTalt Higarsit &1 T
=88 x (5/8) = 55
Answer: (D)
3Ta=GSH A1 = 88 + 65 = 153
Answer: (A)
AP UTA=Id = (27/45) x 100 = 60%
Answer: (B)

3{TdRgdh 3id = 110 - 88 = 22

f1d=1 (61-65): B 'A' GRT St TS foreh & T

61.

62.

63.

64.

65.

= 5000 - 1500 - 1200 = 2300

ERINI
gPH | ST [ ST [ S | 99T
Gl Dl | HEA | AE D! | forelt
Pd Gl Secil Col

A 5000 1500 1200 | 2300
B 7000 2500 2300 | 2200
C 9000 4000 2500 | 2500
D 6000 2800 2100 | 1100
E 10000 | 6000 3000 | 1000

Answer: (C)

gdb 'F' gRI S 7Y TaTal Bt ST
= (3/5) x 2 x 1250 = (3/5) x 2500 = 1500
3G 3R = 1500 — 1200 = 300

Answer: (A)

3G 3R = 2300 - 2200 = 100
Answer: (B)

SIS SUTd = 4000:2500:2500 = 8:5:5
Answer: (D)

3T H WA= = {(6000)/(1500 + 2500 + 4000)}
x 100 = (6000/8000) x 100 = 0.75 x 100 = 75%
Answer: (C)

IHM 'Q GRI ot 718 foreft T Tvem

= 1.616 x 2500 = 4040
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A (66-70): Sifoq T &
fufear

66.

67.
68.
69.

70.

Reasoning Aptitude

fess

N3
N6
N9
N1
N5
N2
N7
N8

Nwlibh|Uno|N|00|©O

—_

N4

Answer: (D)

?WNea%@ﬁmﬂlﬁ&rlﬂwmaﬁ%@
|

Answer: (D)

s N4 & T P13 fsa1 T8 I T B

Answer: (B)

s N5, fgsaT N7 F SR 3l foss T §

Answer: (A)'

f&ssT N6, 89T fEssT Uh Tl HUF B

Answer: (C)

s N5 fessT N1 F St 12 Tar T B

A= (71-75): sifoq w8

71.

72.

73.

74.

75.

[H[B|FlAa[Elc][D[C]
Answer: (D)

F 3R E & T Us fad 961 ¢
Answer: (B)

D Ufdd & gl BR I IR RIM W 981 g
Answer: (A)

D, C % 31% a1 931 g |

Answer: (D)

SRIad fawedl H, Ugenm |Afad 'F-H' &I Blear
TR Afad & 918 ¥ IR VIF R 9318
Answer: (D)

A F & 3l g g

A (76-80): 3ifoH TR ST UBR @

76.

77.

78.

App :- http://bit.ly/TesMusPrime

HeMT | SAfd
b4l Skl

T
g | w
I
a7

TateR RIEER
foger | Ak
Answer: (D)
gﬁqnquaﬁgaﬂmsﬁva%&mm
|

(= EEG R

Answer: (C)

1 B 3R TS T

3{d:, 3R URig B a1 Afad I Ugdl IR HAfdadl
DI SH g3l

Answer: (C)

Afed & Bidl TRig § 3R ITHT o foder o gan
21

5|Page

79.

80.
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Answer: (B)

3IUH 3R XferenT & o IR AN BT o ga|
Answer: (B)

fabed (a): WEl (A S # TaT g U1 3R
3FR=G UG HRAT g )

fIdmeT (b): T (X BT ST ST H g7 4T)
fae (o) T8t (M 3R Afed & g <9 @il &1
ST g3l

fawpey (d): T8 Qfed gad BT )

fad=r (81-85): sifoq awT &

81.

82.

83.

84.

85.

(in)
D

(out) C B (out)

(out) F E (in)

A
(in)

Answer: (C)

A D ¥ fudig saT 2

Answer: (B)

§$aﬁf@rﬁ=ﬁWA 3R B & Heg diF afad 9%
|

Answer: (B)

D, E® a0 q g WM R a1 2

Answer: (D)

C,D P I J Uigd WM R B

Answer: (A)

gfe Tt fdadl & féomad R & A & ”FE 9

& FRd gU quiigehd & orafRid fasan orar €, o

3§ Afad (C 3R D) U g ®IF W /A & (A DI

B |

fd=r (86-87):

86.

87.

88.

89.

90.

Word | help | order | live | beyond
Code | phk rde vlp ynd
Word | hold | control | level | phone | dream
Code | dhl ort evl npe amd
Answer: (C)
"hold" @ "dhl" & U & Hifsd fowar T 5|
Answer: (C)
"phone” & fuars "npe" gl
Answer: (D)
far
AB415D6G87E99Q7123Y52U7IN2
5
Ura 31eR (I, E, Q Y 3R U) § % 3l a1g T
favn e 3|
Answer: (C)
foar
AB4I5D6G87E99Q7123Y52U7IN2
5
Uiy I=ATE (4, 7, 7, 2 3R 7) § o 3t a1e toh
R
Answer: (C) foar
AB4I15D6G87E99Q7123Y52U7IN2
5
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4,6,8,7, 53R 2P 3b Ugd U oA g

UNT = (4+6+8+7+5+2) = 32

Answer: (A)ﬁTIT‘TEIT:
AB415D6G87E99Q7123Y52U7IN?2

5

T BR Y 3MT3di 3P = 7

7' & Y 3R grddi d U B
Answer: (C)

fafafad 97 sm@ fau U &yl ¥ 9/ o

HHI 3,
=e

S
9

IWIF 37 ARW T Had fAswy | 3R 111 SFER0T
CRG R
Answer: (B)

ﬁmﬁ@ﬁﬂ@ﬁaW§WE$ﬁ%
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